Precision 7550
Service Manual

egulatory Model: P93F

egulatory Type: P93F001




NNATXI NI, NNYN

®| NI7'Y' AN XIN2 Ynnwa yronw aivn ¥y mrxn "aya" nwa.
2'YaN DX YN [N 7D 27aoni,0NIN) [TAIX IX 2NN Yo pra mvxn "nnat”

A|J’IIIYJ IX QI 772 ,WID1 7717 NNWON MI'¥N AT AT

© 2020 Dell Inc. nnmw nirpt 73 .0%w nan nnan k. Dell, EMC 7w o'non nan'o on 0'oon ornon o'an'o |31 Dell Inc. nan ninan ix
NNXNN2 DNV 7 D'INON 0'IN'O NIFNY DMIYY 0'O01 D'NON DN'O .07,



Contents

= 070 T T 2T T 6
BT L L6 n N T Vi | o T OO OO OO OO OO OO OSSO OSSOSO 6
1] Y Tl d7 M n 10 L o a W Ly T B AV A I 1m N 1 B 1 OSSOSO 6
BT LW n N L] o T PP P TPR PR PRUPTPRPRRPRPN 7
N'OVONUFIR NI 19N MIAN — ESD ittt ettt b se st et aees 7
o L I o 11 T L OSSR 8
AUNAN 7Y DNI9D 1IN Y DTIAVUN ANIRZ bbbttt 8

P28 n Lin Lo T L Vi o 1 T 9
TUAIDTY USBL ettt b bbb bbb E bbb E R b bbbt b bbbt e 9
USB TYPE-C ettt b ettt bbb e st s e b s a4 et e b e b e Ae b e R e b e st e b e b b e b e ke b Re bR b et e b ebe et ete st ene et ae et st ens 10
TIR'NY HDIMI 2.0ttt ettt E ettt 4 et e bRt R R Rt e Rttt et et ne et enens 12
NVIDIA QUAAIO TTO00...... ettt bbbt b bbb bbbt bbb bbbt bbb e 12
NVIDIA QUAAIO T2000.. ..ttt ettt et ee st s et ee e e s es e eeeeebes e e e e e b e s et ee b eEereeeebetereasee et er e e aeatereneaesaesenees 13
NVIDIA QUAAIO RTXB000. .. .. cueueriieeeieriisieiereisesieresesesiesesessssesesessssssesesessssesesessssesessssssasesessssesesessssesesesssssesensssssesensssssesens 13
NVIDIA QUAAIO RTXADDO0. ...ttt ettt b bt b bbbttt b ke h et bbbttt b bbbt 14
NVIDIA QUAAIO RTXBOOO. .....cuieeeeieti ettt et e et e b a8 e ee b e b e s e e e ee e b e s e aeeeebe s e s eeetes et anebereneannas 15
0 Yo T T T L L T 16
11 0"l bR E bR bR R bbbt 16
D 0M0D TION-SD it b bbb bbb bbb bbb bbb e 16

o L6l o a0 T T I OSSOSO 16

L L2 S 11 TSP 16
T 0TolV TaTo TR ST e (o o TSRS 16
INSTAIING SSD OO ...ttt btttk b bbb R £ e b e b et b e bRt e e b e Rt e b et e st e b et e e et enene e e 17
1313 SONIA STATE AIOM "IN M2ttt ettt ettt ettt et et et e e e e st ete e e ee et e s et e st eae st ene e ene e 18
Removing the secondary M.2 Sold-State ArVE.......ccuviiieieiiiieisie et bbb ne s 18
Installing the secondary M.2 SSD MOGUIE........c.cuiiriirieieeieeri ettt s et e s et e bereneenaeas 19

(o 1o Jn T 1 o Lo T PP PO PP PP 20
REMOVING The DASE COVET.....c.iiiiiciice ettt ettt b et e et et te b ebe b ese st e e b senes 20
INSTAIING THE DASE COVEN ......cuiiiiiieiite bbbt bbbtk bbbt b sttt et b ne e 23

0 o TSRS 25
1 L L 20 i d o T 1m0 L ¥ gL YA a OO OSSPSR ROTRTPRRRTRTO 25
REMOVING ThE DATTEIY ...ttt ettt bbbttt b ettt ene e e enens 25
LY [T ale TR TN o= =T o PSSP 26
[T RS To 10 I c= | (YOS STSRSRPTRPRSRSRN 27
Removing the primary M.2 Solid-State AriVE........cccoiiriiiiece ettt 27
Installing the primary M.2 SSD MOAUIE. ........ciiiieeeee ettt ettt ene e re e 29

0 107 T i o L i o ' PSSR 30
Removing the secondary Memory MOAUIE...........ciiiiiiiee ettt se et srenea 30
Installing the secondary MEMOrY MOGUIE. .........coiiiiiieee ettt ne st e e neenes 31
MM SIML bbb bbb bbb R bR b bR bbbt b et b et en s 31
REMOVING T SIM CAITG. ...ttt ettt ettt b bt b et b e e ae st b et en et b et ene e e enene e e 31
INSTAIING ThE SIM GBI, ...ttt sttt se et st et e e ete st ene b en e besene e e ene e eneneenennes 32

Contents 3



En T 0 L0 In Yo TV Y A TR 33

REMOVING The WLAN GBI, ... ittt sttt ettt s e sb et ettt e bt e bt e sb et e et st e te b te st s e nnns 33
INSTAIING TE WLAN CAIQ. ...tttk e bt e e st ee st e b e e et e e et e eees e ebe e ene e areneans 34
e o L o L A Y N TSSO 35
ReMOVING The WWAN CAIG... ..ottt bbb s bbbt bbb s e b e bt ebe b e se b ne et e en s 35
INSTAIING ThE WW AN CAIT. ...ttt ettt b ettt e b e b b e e et e bt ebe e ne e r e e 35
B i ' 1 TSP 36
RemMoVviNg the KEYDOAID [ATTICE. ... ..cv i b e a ettt bbbt e ere e b s 36
INSTAllING T KEYDOAIT IBTTICE. ...ttt ettt s ettt ee e st et e st ebe s et e e et e aeeseeeeneareneas 37
T 17 2 TSSOSO 37
REMOVING The KEYDOGIT. .....ecviiciiici ettt sttt bttt bese st e et e s e se s esesbese et e e eneseens 37
INSTAIIING T KEYDOAIT. ... ettt ettt ettt bbb e bt e s et e s e e e et ne e enene e 38
7} T g i 1 PO TSSO P RSP PP TPSPPPPO 40
Removing the primary MemOry MOAUIE.........ccviiiiiiise et a et bt sb e saereeaens 40
Installing the primary MemMOrY MOAUIE...........ci ettt se e eeneebe e ne e 41
B T L 1 [ VSRR 42
Removing the heat-SiNK @SSEMDIY.......c.ciiiiiiicece et bbb bt b e b et s eae s 42
INstalling the heat SINK @SSEIMDIY..........oii ettt s e ene e ne b e 43
a1 D T 2 G ST 44
RemMOVING the POWET-aABPTET POMT.......iiiieiiiiei ettt sttt b et e e et et et e s ebesaesesbe s ate s esesrans 44
INSTAllING the POWE-AUAPTET POMT.... ittt ettt ettt ettt er e e e s e b e st et e e e et e eneseeneabeneeneneenan 44
Ep YAV 1o T n T T i 2SSOSR 45
Removing the POWETr DUTTON DOAI..........ciiii ettt a s s bt s et e enns 45
INstalling the POWET DUTTON DOAIT. .....c..iuiiie ettt sttt e et e see st ee e s ees 46
TUYIXN DY KU DY D2UDNN [¥N7 Nttt 47
Removing the power button assembly with fiNgerprint rEAAEN.........ccviviiiiiicescese e 47
Installing the power button assembly with fINgerprint rEATET ... 48
L L > 0 2T ) TSSO 48
REMOVING The INNEE FrAMIE....itieiciicee ettt a et b sttt e bt e sbebe st es e et et ebessesesnenesseneas 48
INSTAlING ThE INNEI TTAMIE.. ...ttt b e bt b e st e e e et et e b e s e e s e et et et e e ebeseenesaenea 49
(n o] T 10 L1 I o T i i Jo ST 50
RemoviNg the SMart-Card MBATEN..........c..cii it bbbttt e bbbt st be b rens 50
INSTAllING the SMAMT-CArd FEAAET ........iui ettt et eee et e et e e st bt be e e b e e renens 51
L VT TG ) T N TSRS 52
Removing the TOUCHPAA DUTTONS. .....cviiiiice ettt ettt be e se b se st se b snenas 52
INstalling the TOUCHPAA DUTTONS. ... .ottt et ettt ae bbbt ebe st enennene e 93
MM RO SD ittt bbb bbb b bbb bbb bbb 4
REMOVING SD CAd MBATET ......c.iiviieteieie ettt bbbttt bbb b et e s e et s et et ebe b eb et e s et e e bt ene e 54
INSTAINING SD CANA MBATET ......cue ittt ettt ettt et e ettt e e Rttt e R s et et et r et et et e r et et eeese e e eenenens 55
En AV T 1 I TSP TP TP 56
REMOVING The POWET DUTTON. ......iiiti ittt ettt b et e s bt et b te st et et e reere st eaess 56
INSTAIING ThE POWET DUTTON. ...ttt et e et e et et et e ee e st eae st ebe e e be e ereneereenenis 56
TIYIXYN NHYRI0 ROUT DY DUODN [¥NT7 71700ttt et b et ettt e bt se s s 57
Removing the power button assembly with fiNgerprint rEAAEN.........ccviviiiciicec e 57
Installing the power button assembly With fINgerprint rEATEN ... 58
a1 L T n o 3N | TSSOSO 59
Removing the GPU POWET CADIE..........cciiei ettt s s bt eebe st s e ssesesaeseeaeneas 59
INstalling the GPU POWET CADIE. ...ttt s e e et e e sene e eenene s 60
1o I 1Y) T N 0 b TP PP 61
RemMOVING the SYSTEM DOAIT. ..ottt ettt b e be b e b et s et eeb e ebe e s e 61

Contents



INStalliNG the SYSTEM DOBIT. ... e bbbt 63

MM GPUL bbb £t b R b h b bR b bR £ £ bR bRt bbb et b s 66
o L6l o I i o 1 L TSSO 66

N 0" NIIIN-GPU bbb bbb bbbt 66
4720 1 PO RPN 67
REMOVING ThE SPEAKEN ...ttt sttt b e b e sttt ebe e ebe b es e b eneete e eee st eneneenennes 67
INSTAIING ThE SPEAKET ... ettt et ettt bbbt et e et e b et et e s e eb e et e e s b ene st e s e nbeseeee e et e 68
g a1 Nl o Lo T T SO TSSOSO TSSOSO U PO PP USTPPRUTPRUPPRON 70
REMOVING T MIAAIE CAP. ... e ettt ettt ettt ettt a e et b s e et enene e e enens 70
Itye=] [T ale R u aTcl aalle oSN o= o TSSO 71
B i o 2 OO OO OO OSSOSO 72
Removing the diSPlay @SSEMDIY ... ..o ittt ettt et ee e e e enens 72
INStalling the diSPIAY GSSEMDIY.......cue ittt ettt te st e te e te e enesaesesseneareneas 74
R B 2 R a T OO OO OO OO P PSP PSP TP PRPROR 77
REMOVING The PAIMIIEST. ...ttt ettt ettt e et ea et a et a e b st nb et et e be et ese e ene et et eae e ene s 77
INSTAIING ThE PAIMIEST ... ettt ettt et et et st e bt ete e ete b e s e b ese et e etentenenbenennas 78
B i i (o ) FO OO OO O OSSP USSP 79
Removing the display bezel (NON-TOUCK).......i e e 79
Installing the display Dezel (NON-TOUCKN).......iiiiiiiicc e 80
B N 3 [ SO O TSP ST TSRO PE PR TPEPTPTPOPRRTN 82
Removing the display panel (NON-TOUCKN ). .....iuiiiireieeeeee et ee st s et eeenenens 82
Installing the display Panel (NON-TOUCKN)........uiuiiiiieircc ettt 84
B T SO OOO O SOO O STTSTOOOUSPO OO SO 85
RemMOVING the diSPIAY NINGE...... ettt b e e st a et et e et ene s e e enesbe e eeneee 85
Installing the display NiNGE (NON-TOUCKN)......u it 86

DY I3 OO OO OSSPSR 88
Removing the CamMEra (NON-TOUCK) ... ettt s et e s e e e e e s e e e aer et e e eerene s 88
INSTAIING ThE CAMETA. ... .. iiicieice ettt et et et ettt s b s e be e e Ee b e Ee st e s e nbe st ete st ate e eneneerennens 89
cpim N T 2N L o I 2RSSR 90
i by n I LA N o T i 0 2 T T VOO OO O OO OO OO OSSO OO SO OO OO OSSO RO SO USOUROPRTRPRRRON 90
cpin Ty L I LR N Y I 20 2 T oSO N

B i o T OO OO OO OO USROS N
Removing the diSPIay CADIE... ... ettt ettt et e et e e st ee e e e N
INStalliNG the AISPIAY CADIE. ......c.iiiietiiiiie bbbt 93
D1 1V o = To N0V Z= SO SPSRRRPO 94
Replacing the diSPlay CADIE............ci ettt ettt b et ee et eae e ne b ene e 94

L 2 1LY Jm T 3 T 96
7w 7INNX 1197 NN WINA N7 T 7Y [INAK Dell SUPPOITASSIST..cuiiiceiiiieece et 96
W 7INNK 1197 NOIWN WIN N7 T2 NN SUPPOMTASSIST...eiiiiiiiietiieie ettt 96
N0WNN N7 7W NN NNAXY D2 T (M-BIST ) ettt en e es 96
axn NI77 munin Npooxk N'7'on 7 NN NNAXY N7 T (L-BIST )i 97
XN N7 79 N2 DNAXY NPT (LCD-BIST )ittt et et e ene e 98
TIDAUNIN [INN THM ettt ettt et te st e te st et e e b e s ebe b ebe b e b e et e s s ebe s b ebe b ebe b et e eb et s ebe s b ebe b ebe b ebeebese et e b ebe st ebe st eseebessetesee 98
e L £ Y T i > T T b Kl T PSR PRSOTRPRTOTN 99
L= T ¥ 11 2 T o T 101
2 R L 1> = OO OO OO SO 101

Contents 5



AVUNNN 7V nTIY

NIN'O2a NIRIN

D'NTEIN D'NAN

D'NYPNNY NN )70 70 ,NNNK PIY DX KX WIRD J2IN0T NIR N'0ANYT 'T21 WO 771 190 2WNNN 7V [ANY7 1D NINAN NIN'VAN NIXIINA TV
D'N2N D'RINN:

awNnY NISIIXAN NIN'AN NIXIIN DX DRI,
J190 AT02 N0NN 70 VIXA T 7Y NI ['PNNY ,T1912 WO DX LIK 297 9707 N,

IT AaN'Yn NITIR

@ I7TNN ,AUNNN 7¥ D'N1I9N 177N 7Y ATIAYA DI'O INKY JNINIT 7W IX Aawnni 110 YW AN 197 munn nNnipn 73 nx gna v

'Mwn 1N Aawnna 12N 197 oRnaal ninia,ntiona 1> NX oninY.

A "V ,NIXMIND ATIAYA NIV'Y 7Y qoNn YT .2UNnY QXY NIN'VAN YT'A DX X7 ,AUNNN 7Y 0'N190 1'P'7N 29 2Ty 197 INTR

D7NY7 NIN'RN 'XYIDA NN 9T

,AXINN TIV'N 1'NNY '9 T2 D'VIYS DAL NIFY2 [INNO YXaY7 77 .YXaY7 713' Inoin NIN'Y 'X1DV 7Y DY DI DIY*
AYINN 12'RY 719'0 A7V DIATY 772 NODN NI'R NIFINKD .ND'NNN NHX 7U1 219700 NN IX [Iina NIN'YA 7W DifninY DRkNNA IX
r11-2y Delljn'o-"7y 291 72X 1971XW NIVIIBNAN NINTVAN NIXIIN DX X7 ..

AT 7192 AY'Ad FTT 7Y IR T 719% ApIRD NYIXT NIYXARA (APIRN) 'VVO TNYN JNXYN 719 ,N'VVONLF'IX NP*ID YIINY '
AWNN 221 12NN AYA1 FTO N VIAY X7 NdDNN hvwna D'yIRyp.

W' .NDNNAN DDA NAYINM IX I'71W2 0'0D PTNA .0'VIdA D'YANA IX D'ADIA YArN X .NINATA 0'0'VIdAI DADN] 79V
D'2'92 X1 NIIXPA Tayn 12D 0*ADI2 TINKY.

Oy D'2ANNA D'TI¥N D'N'IoN D72 .IXY 7200 NXR K71 17W Nd'wnn NIYY X IX 12NN X J1vnY? w','731) 7in0 nya
919" YN 13 1¢' DNIXR 7TNN ,DN2NN NTI9A NYA 7290 7101 197 n'7'van niiwY 2y yn' ,nt aion 725 gint nya ;a'7'wa nimigy
NO70D DMWITI DNIDN DMANND YWY XTIEL720 21an 197,72 7 qon .baYw n1'on hu.

®| N7 INnonl 0'y'sin DY 's>n miv NIXI'AY7 D"IYY D'A'ION DAY AYNNA 'YaY NIV,

AVUNNA 7¥ 019N 1'R7n 72V nTIAvn 199

IT AN'YnN NITIXR

AWNNN N2 NTIAYN N7'NN 1197 D'XAN D'A7WN DK V¥ ,AWNnY? P yvian .

DYy

1.
2.
3.
4

NIN'VAN NIKIIN 97 71W9Y7 Topn.

aUNAN "0 7 NIVY YIINY T 211 NIVY DTIAYN NVYNY XTI
aUNNN NX N2

aUNNnNn NYIN 730 75 X pma.

NYIA [PNan INIX 7N 9N INXY71 aUnnnn 7250 X 7 2'%7'NN ,Nne 720 7m'7? '

DN7Y 70nWUNN 'YPwn DNAINNN DRPNNN 75 NINEQYNNN DX 7).
N2WNN NI7 DX PIRNYT T Munnn 7NN 2Unnn TUKRD n7u50n [¥N7 7V NdNX n¥'N7 yn'Y.

awnna 7y N1y


https://www.dell.com/learn/regulatory-compliance

@ 177192 NP T Y IN TR 719Y% AN NYIXY NIYYNXA (RPIRN) 'OVO TNWN NXYN 719 ,N'VVONUVFYN DP9 YN T3 NIyn
AWNNN 221 12NN AY'A 1O N YIAY X7 NDNN NVYNA DY nT.

Nnin'oa Nni'nan

NDIYNA 02D 7Y 719 75 1197 YXAT W'Y NIMP'VR NITIYON DX 019N NNAT 'WXNAKRI NIN'OL NI 7V 7190,
207N IX 717192 DINdN INK (17N 701 IX MPNN D710 73 '97 1790 Nin'van NI DX y¥a:

2UNNA 9NN TN 7 NIRENDIWNN DX N2D.

nUnNnn 12NN '9R'IN TIYN 7D DRI NDIYAN DX 7M.

NdWNNN NMIYENNL 19700 DY IR 725 DX 7).

NLVYI NN'WN N> wnnwin ESD n'ovonup7x npmo 2py 71 vin ©1 NNann awnnni? awnn Jina niay nya (ESD).
'VVO-'VIX [IN'VY 7V T0INY 2N NXK NN'ATA NN ,NDIWYAN 297 NRXIN MNX.

7nUNNnY "12'0N DX N'N9NYT 1D 7AWN NID'7IN I'KY I3 NI'7I0 DY 07V 71v)7 W',

NINNN AXn

nxim Dell "WKRD DA 'n DT W' NWYNY NINNN 2¥N NI77100 NIDWYAL .TIXAN DX NINSY 72IMY 197 nwninn 0'pninn NN 02N NINAN QXN Dy
N2WNN 7 PINN N72Y90 TWONN 'N1190 NIdA 790 NN [0 (wake on LAN) nimTpnn Nid NdNX 7101 niidn 7701 ,n1'w axn? nnvywinl
NINNKN.

UNNN N77100 X RXIN .NDWNN NI72 DUPY DI'WD NNNN DX 7097 DNk N 15 quna n7uonn [¥n7 7w nptnnl nx'n? ,j7imn
nNannn avnnnni7n.

D'X'Y2019 NXNIYN

NLYI NIN'YN NDIYA YIN'WN NIYYAR] NYYI 12T MUN ZR'I019 INIX? MNIF IR DPIRD D710 1Y 112N7 N0 RN DYIR'YI019 DIRIYN
N'VLVONLVRIR NPM9Y7 (ESD). nyixdn .ndNNN 1'RY NVWNY IR Y1IA¥Y NLVWNY X7 071¥71 NDIWN NdNNYT NaINA XINY XTIl ,1200 7215 11N nya
XY DX NN2'NY 1197 NIYAV IX,D'TNY ,DRIVY |10 D'0'WINN 72 IR NNONY XTHY W'l ,1IVD DY X710 Yanal NNVAINA N7 N2MX T 92 7197
TI'YN DXL

N'VLVONLFIN NP 191 naan — ESD

ESD jn>'7,0'1ayn ,n2an1n '0'01) |12 D'YANN 0'2DIN TINTA,0MN0EZ7R 02D 719'0N DY N'NIN'VA AW DN 'nivawn DIMM, nini?a -1
NIXIP XN NIYYa DY T'NX (12D ;0020 [N K7W DDITA 0'TI91 D'7WN 0*7aunY7 712 DNA7 N717V NIy0l N9XINN TINA N1V .0"917N NdDWN
N '9% .0"'n-Industry N1an ,NN2aM NI9OX 0WNN NINX NIYNT DX TN 1Ay qNT 021 ESD n'mintva nwa ninn nnana 71ma 7nw xxna.

XN DY YNWN 0P TIR'MOoN MINNA N2 Ni9'oX 1y Dell, "Wk INiF niaa nyd Xx¥ni '0vo 7munn NXXIND 71 7V NIZ'91 NN DX
nxm 7w o Dell'uan?h Ty 'R 0170 719'0 yxa7 NI0'Y |27 0TI WWIKY 770 ,IT na'on ..

71 7w 0210 72y nnim 1w ESD n'7wd T'NX -1 Mpnn 0.

TNk 20-2 a¥"7 0'7wdI NN - Ngan ESD w37 nnarT pnnn 7w nifarypamn 7w 07nim [TaIN DT DA 17 .0NIgpn 0fwd
N7 RN *79110007 DIMM 7'on 1 [91X2 '0LVO ‘MwNn? N7y 12 w'w "No Post/No Video" symptom 100 112y nTiwnn qi¥ox Tij7 oy
IX nonfunctional |N>'Ti.

D'7TINXR 80-2 ax"7 T'NX 07w - TAX ESD N7 MINn 1'R KIN LT NY'OIN WK [ATH 2N D YWD TR 071 7W DIan .0NIYpn 01790
T'n. DIMM 7720 IR DNIYRN DR'AONN YIN 97 2'9n7 TN 12'RI NDWKYT 17N LIYOY NI W7N X' NTI0N X ,'000 MwNn? 7apnn
|N2'T NIRAY T'AXRL|ND'T NINYY ¢ 0'WINAY AT 0NA7 2179 D' N1A1,0n'NY D'WTIN IX NIVIAY qUAD7 RIYY Apyn 71700 Dnown?
nnimI

7w ("N2"7N DwwIxd" IX NINNO1 DA X1j71) T'AX KIN NIV AMSY1I NINTY? 772 210 MNIF DYy,
N 0'01d NX 1'oNY7 O 0'KAN DA7WN NX Y¥A-ESD:

vinn wnnwn ESD nawim? Nyt .nn'8knn N1an Nioon [1'K [0 ,11I0K NIFYINTR NI'VO-'0IX NIVINIA YIN'WN .27 PIRINI T 9 7197
j7'o0n 11'Rk 07N 719'0n 197 ESD protection jm 7y Nip'o2 niwaan ann oy o'77n ESD.
NTIAY NIN7IY7I N9X¥I17 D'OVO N'VLO-'VIN YNNWN ,IWONN NT'NA .'UVO 7nWNn 71 NITRA 'OVOINLRYX 7WNY D'waN DAY 7907 Wi

NN0N 197 .12'PNNYT DI NFNWI 27 '0VO-'VIXN NTIRN MNINN 2N DX RXIN LI7W NI7WNN NOSIEN 'VVO [YUNT7 YWD 2D NXXIN Nya
792121 '0VON MYNN NX NPIOY XTI ,N'VVO-'VIRN NO'VYN.

N'OVO-'VIN DTN IN 'OVO-'VIXN 7'M INIX N1N7 W' W1 2D N7AIN A,

awnna 7y N1y 7



ndo>Y ESD nuwa nin'wY

NYIXT ,'O0O0-'0IX T2 (DTN DA NWITY N'7'DN NVW NDW 70 .WIN'w2A NI NXIDIN NN'WR DY KW 1101 K77 NOWY NNWR NDW
U A LT thira by ra ol

no>wa nanIn ESD nuowa nin'wy

212y VW7 nn'wn N> a1 ESD on:

|IN'VYWA WIN'y Nya .NN'Y DY%0 17002 070 117V N1AY [NREITD WD 7Y2 ninn WY 'uV0-'0IXN [IN'UYN -'0VO-'VIX [IN'LY

109 INKY7 .0'TAIY N'72VY NDIWNA NDIYN NdNN 7571 [IN'OWYT 12aNY7 W' 7200 DRI NRITA NIFYT 121X T 9D 2197 NVIXIN ,'00V0-'0IR

N N'PYn NN RN DR RNINT NI L,NNIK-ESD 7 o'wanin 0'omMe . Tamn v nnrw' onik nn7i-ESD intow 7y T 9pa nnioa iy
n-,ESD j'n qima ik no>wna.

,NMNINA qIYN NDNN 27 127 17¢ TN 719 |2 V'Y IWRY7 wnw'? 070 YRR 711 NEIRNN NYVIXY — YR 771 T 19 apkn nyixn
T2IN2 X 'R UKD ESD, 12 1190 yann . Ta0nn 7y NNt NANY n0nin 21 73 7Y [an7 11 1000 '0IRN T2nn 78 DNIX 12N MY IR

N T2 W 127 AWEn 70 npIRnn IYIA-ESD T P19 Nixd (N2 W'y NUWA NNYY NIDIYA 7Y WNNWR IYE 1AdR - 2NN 100l
T2 N K72 NPNYN 2117 TYVM TN 92 NYIXIA M9 VIFNNY TN 10T .71 K77 T 7719 NIYIXI2 Wnnwn 78 0717 21wy 7\ni Tan
PIT27 Ymin .nnin 'uM197 0'1nn X7 '000 YN P11 vin? 1, T P19 NIYIXY7 1000 DY 1O [9IXA DNIX 7ITA7 NaIN 27,7270 win'win
VIaw2 DY9 NIN97 1aNnn 723 DRI TN 9 7197 nVIXIN DX,

nyIx1? 1oov ESD n nyix1 mawv virnn — 1A 719%-ESD X0 n¥imn nTavn NO'W 110" X977 1D WIn'Y A T IR P17 Tvin
DX QTN DX PITA7 AN NAIVN NV RIN NPIRD NYIXYT? 100V V1AW DY ,NINON 7571 NN'Y NRMP 75 1197 NYININ DX NIV 71m7
A00VN 7R NFIRNN NVIXY 7Y AY'PN 7'N NIX 12N ,NP AN IR YXAT T .07 1'wiNn 0NY7 W' DX 1121 ITRD TIYNN Y 21T1,1000 17 'R
N7U1 NP'TAN DX 7'7% YNl N'RA NNITR NN ;NNPYNA DNPPTAN OX DIXRIM RN NNN LXN70 7V YR71Y7¢ T 7719 7Y Ty RID UKD,
O'TTIAN 021 7 0'YN DIPNN 7V w7 1N --ESD, 0 TTIANd D'wnwnwy 019 07NN 0p'NNNY1L R u07om 1N 1913 7Y 0'TINN [13D
21 " Mun [yun 0MAaIX AN

N N> DX 0119 NNRY 1197 NIP7N TNKA D'RINN DX 7172 — TN N220-ESD naw naraoa ndwn 7w n0M9 ,nnaiT? ..nowa NNty
IX D™INTIY 027NN ;0N 'TOIN2 MIYPN NIRINKA DIPNIN DY QN7 .07 02PN IR NTIAY NINTIY 79 0TIy D202 N0M19N niY
N YW NOM9Y 7'90n 71TA N'N'W ,1TIONI NIND NTIAY NUVY T'AN WON .0'KNA IX D' TIYNA DT NN7IY 7Y 0faxm 775 N1 o
N-ESD, yn'x 7710 0*717pn ,0'TTIAN 0NN ATIAYN N20N 2'NNY W77 NRITe Nd>Ivnn A107 0'RkN'w 9o now 7713 ESD. vt
7NN 'Y oy o van 197 0'whan 0'77nn n'o 30 NINS? DMINK 0V0YS DNINI [N'V0'7I9 IND D'TTIAN DNIN P'NINY.

7 niwan 2 [pnin 73 7ap ain'? ' — nrovo-10ar amIR-ESD j1am Dy NifMdnn Nrfgwa wnnwin y7nim 'uuo 7awnn nian oy NNl
N N'PY2 DI 7700 DX 1'TNNY T'AN 1970 .'0V0 nwn-ESD n n'jpw Nk 20'0 7977 wr .wTNn 77nn yan bnaw nmixkal-ESD nimn'7i

7 D'wU0 DIPNN R'NINT WL.UTRN 7700 79 DNIpnn NTIINRA 177019 0OXZINN NTIIRD NIN 722 wnnwni 72T 0102 NNIR-ESD nrikinn
NN DY NTI nown 7 1 ESD n nrpw 7w nixnn T 7y 7700 Nk nn? 'R1-ESD Than Topn amn npwn 7w 'nnaon #7nn g niun
N T2 72V DNIX N'IN7 IXK T2 077NN DX 2 TNn7-ESD, N'ovo-'0ax N'pw N2 IX NdyNn JInA.

7 D'W' AN 0D DY UKD - D'WIAN DY N7AN-ESD, 'R nthinw 070 ik qi'7'n e a0 Dell, nirpwa n7R 0o nant airn
nNIv2 D721 DYY NI'VVO-'VIX.

n n1an-ESD - np'o

TA1 N'NNI0N N'OIN NPAIND NV IWNNY!' NUWN 'RID0 W y7nin ESD Myim NN'w 0'1ayn 0N TWRD N 752 [an '0vuo-'0ax [Intuwal Dell.
D'YN 02D NZAINY NITVVO-'VIX NI'PYA WNNY'T NN'WA NIZIYO 170N TITA 121970 ' 07N 7' 'KIDVAY 1IN ,9011.

AVUNNA 7¥ 019 1'P7n 72V nTIAvn ANXY

IT AN'Yn NITIR

awnNnn N7Y9n 197 07251 0'0'V1D ,0MIIX'N DYPNN 12N7 TOPN ,N97NN 70 NN7WN INKY.

o7y
1. nwan IR 19700 *720 NN AwNn7 Jan.

awnnY pn INXY1 YA [PNa% 7200 X 1an a7'nn ,nwn 720 1an o
2. Dn7¥ Mmwnn 'wipw? DNaInnn 0IEnnn 73 NRAYNNN DX 12N,

3. awnnn NX 7won.
4. nhyon 'T-7Y 127N WI9 AWNNnW XTI ,)IXN NT'N2 SupportAssist diagnostics.

8 awnna 7y N1y



D271 NAI71dLv

TDIYNI D'2'ATN DRINI A7V 7Y VIN'D K¥N1 DT 192,
D'RYI):

nnpn USB

USB Type-C

nxx' HDMI 2.0

NVIDIA Quadro T1000
NVIDIA Quadro T2000
NVIDIA Quadro RTX3000
NVIDIA Quadro RTX4000
NVIDIA Quadro RTX5000

nnpnn USB

Universal Serial Bus, Ix USB, ,0"120y [12 '977'0 TI'¥ 27NN1 D'NIXN D'AWNN 2 112NN DX 'NIVAYN [9IX] VW'D KIN .1996-1 n1wx17 axin
NIOSTNAI DMIX'N DIPNA 70 NIT7m.

2 ninnona .1 a72v-USB

alo 0"IN) NAYN Xy annop nNdH MY
USB 2.0 480 nmwY nira'o-nan High Speed (nniaa nnnn) 2000
USB 3.2 1aya) 1117 5 nmyY niralo-nan SuperSpeed 2010

USB 3.0/USB 3.11117T)

USB 3.12m 10 Gbps SuperSpeed Plus 2013

USB 3.2 1 11n (SuperSpeed USB)

N ,01Y JWUNl win'wa n'nw nrkY-USB 2.0 71ixn 071X .N0Nnv 0Ipnn TIRY'M 6-2 DY ,0Pawnnn D71V NI 221700 pwnni 70D Uanwn
09 2NNM71 N'NN NNINY WIZRn DY 712 T2 77a N nnia nnqnna. USB 3.0/USB 3.1 nimin 0157¥0 NIWAT? Nayn 910 73 910 y'¥xn 11
7w nndNN 707 .mTiEn 'oNiRn 918,10 '9 nnlka nnan'? USB 3.2 a%min nxp 11T

20 Tv) "NI' 0'NIA2 DRI NNV v Gbps).

10 7w nhaam n'ama-21 n'7wen Gbps TNX 7oA.

2nwn 7717 DIENN DY NI NIV DITTINNYT [PNNN 7W NN9IYA DT N2MIXI NISIWN NN 7'9X NNXIY.
NIYTN 70wN N>Y 7101 nRdN.

D'WUTN NN2YN 1102 NI'MNI X'7M 0779172 0IN] NNAYN.

Dy INK? nin'kn USB 3.1/3.01-USB 2.0.

D'YUTN 7201 DNaNn.

2V 178UV NI NINIDIN NITRYUNN NN2'7 Nayn 01N o'Ran o'xkwinn USB 3.0/USB 3.2 111mn.

SUPERSPEED
S USE>
e

SS<

D21 AAI71Nd0 9



nNntan

7Y NI 0TYN 019NN T NTAINY NINfR YN nwmn 0w ,wand7 121 USB 3.0 / USB 3.1 9w n'iman niavn 7w ooanna .11 USB, |n
vI9nN 7w 2.0 NoNan) NNIAA NN L,NR'A NN LN NNNd Niaon), SuperSpeed (1 (3.0 nonan- SuperSpeed+ (2¥n (3.1 noan
SuperSpeed+ 20 7w n'n1 NNy 2¥pa TI¥n WTNNGbps. [pnn USB 3.2 npn'? Aink? oxim USB 3.1/3.01-USB 2.0.

7w nwixan nn1 USB 3.2 o'xan 0'dvun 0''w? nonim ,InTI 7Y 1TA D202 nnan 1 1mn:

7'9X7 1"appna qounnw qon o 'ox USB 2.0 |7n7w 2i'kn Nk NR1) D).

7 12y2-USB 2.0 7 .(0"7x'x119'T DQIMa7 it ngxn ,7nwn) 0roin nyax 1'n-USB 3.1 7w niair 1w 0011 0uin nyaix 19on 111
0II'NAI DANNA DI NIMY 7Y TR 7712 107 (NN2avnl n7ap) DRNIN9'T NINIX.

2-USB 3.2 7w wim'wa n'nw 077917 '¥N 1IT'02 DIPNna ,11M-1T DI pwnnl win'y nwyl 1m USB 2.0. ann nx 10 ' n'7*Tan 1T nadn
'0VINTIN 090,

n'niy"

n"7m0 USB 3.1172yaw Tiya ANk na1v N'%710 win'y NN 0NN 72'on7 NINIRY7 NYsKn 1511 ,07N07 NN 27199 ninn apayn 11T
2 win'wn-USB ' marn 090 anin n71an 139 ['nT? 777 ,(INT'1 NO'NT NA'UPO0I91 AW NN ANIZIT Aj7y) 7201 'N72 VYN 1TAQ DD IRTY
2w INT'HD NRNNS X Nown 10 Ty 5 USB nn%1ve |91k nXi. Single-link DVI vynd 7w 01ima nnayn 2y 11¥n 2 Gbps. 9w navn axpw Tiva
480 Mbps 7w n1ayn 2¥p ,72an n'n 5 Gbps 7w nMiIvMva 121 17791 K7W 0NYIN 1901 7Y NTITIVON NINFIAN .N'VAN NIF NN DX
USB, 7w nimix'n jlonx nipwn [123 RAID, 7 anpa 19nn-4.8 Gbps, nvaimo.

"MXM Nnd 7w NN 707 SuperSpeed USB 3.0/USB 3.1 oa'ar 1mn:

mNIN DMIx'N 0'N'wi 0 USB 3.0/USB 3.2 nmn71w nrawnn? 111
myn o o' 0mn USB 3.2 11

MNIN 022107 N1ay nnni omxnn USB 3.2 11

M1 0'XIp Flash mxim USB 3.2 11

m1D Solid State mxin USB 3.2 11

1Dwn RAID mxin USB 3.2 111

N'UOIX N'TA 1D

n'TR'7mM 2pnn

Nyl NIy

NIt DXNN '0'01 USB 3.2 111

NIN'RN

v |0 Navn NwTNN-USB 3.2 7¥7 niwa nvpnin? n7nnnnn nT'op2 1210 11m USB 2.0. w Tiva ,n'wx1-USB 3.2 orr'o nniarn 7713 11
DY N'1270 MIX NNINQ INA NXY 12NNN L,7Yn UTNN 7171090 nWTNN DINMRN N712'A 200 DX 7'907 ITYRY 0'WTN 072 )2 2py1 D'YTN
2 'nw 0'wan nyax onik-USB 2.0 y¥a7 'xnyy 9182 021N 72771 7TYY 1ITynY 0'WTN DNIA'N NYINN 1Y NNY 'O L,P1MTA DI INIKAI

7w 07201 D't 'RNXY 91X DTIVA DM o7 USB 3.0/USB 3.2 212n%? bMainn on WX 71 yana o'’ 11 SuperSpeed USB
D'xNN.

USB Type-C

USB Type-C 7w n1arn'al 01an ,0'wTn 027N J1NNY7 712! 1NXY 1annn 010 UTn 7' 1ann Xin USB 110 USB 3.1 -1USB Power Delivery
(USB PD).

917N 2Ax¥N

USB Type-C 22 7w 17Tan wwd 19112 .|u 1ann 7w wTn [7n Xin USB Type-A .12 wnnwin? 72100 [pnn 72 TN ann 7w |pn It . |w!
nixy' USB Type-C 120 011w 099 1210 72771 D'RkNNa wnnwn't 17 2wornw 19170 ax¥n"a win'y N 0IY 01710109 1202 Ynn'? nizn:
HDMI, VGA -1DisplayPort nx'¥' naiw onia'n 2o I USB nnx

USB Power Delivery

7w v1onn 0a USB PD oy npimn nixa 2%1wn USB Type-C. o'y D'wnnwn 0 NKR 04T DANN1 NI 'Awnn ,0'Adn D411970 ,1'UdY'7 |121
q1a'na niany USB oxim 1ian .nawwo X7 USB 2.0 T awnn .0t anir X7 72K 19700 N1y 7'oon - r1 2.5 Ty 7w 79001 wn 7o0n

10 D' AfaI71dv



7v 019NN .NNAIT? ,uKrI 60 TY YNY7 1wy USB Power Delivery fawn 7277 IX nitwY 213' [pnnw 70 ,21-1T Xin .0X1100-7 7o0nn NX 11an
212NN 22 7Y 0IM) YTYUN [PRNNY AT2-12 1'AYN7 [N 7UN NPOOK NNIX XL

212'N 0T Y¥ANN N1'WON N7IVO 70w, 0P TN D'AYNNN 7Y D1MIEn N1YY0N 72D [TV 910 DX 7107 1wy N1 12T USB NX Ivu? o1 runmvo
AUNNN NX 12NY7 721N .0NK DT 0NN DTN 0121970 DI VIV NNR DNIYYNXRAY DT NI7710 '1y0Nn DNIXA TNXK NIYXAXKA TN 2Unnn
212'N NIYXANRA 790 - 1IX'N A¥D 12 YNNWA NNRY AT 7¢ TN 2WNAn DX [YO* 1IXN A¥ INIKE7awN 7207 "ainnw aixen ax? 17w 71an USB
Type-C a2 qmn7 nnaw 0oMx 72001 [Nnn ,IT NNWOK 7X17 13 .|uj? TNR-USB Power Delivery. 21a'n 7w mrjp nxy USB Type-C miIx X7
nn'p ND'MNNY.

USB Type-C 1-USB 3.2

USB 3.2 |71 USB v 'onix'nin 090 ann .wTh USB 3 5 xin Gbps, w nta-USB 3.2 20 x1n Gbps, nninan niN'ina 09n aninn 7193 i
nann 7w N Thunderbolt lwx 1T, USB Type-C 7 nint 1'k-USB 3.2. USB Type-C 7w 0171150 7y 002107 NMYWY AWK I1IA'N MIX 71 KN
USB 2 Ix USB 3.0. u'7axoun ,nwyn? N1 Android 7w Nokia nanna wnnwn USB Type-C, 7y 1715 ooian xin 7ax USB 2.0- X7 17'98 USB 3.0.
IT7 1T TINA DNIYR N7X NIMI71100 NNRT DY.

Thunderbolt 7y USB Type-C

Thunderbolt TNX 712N w1 ,ynw IXT'1,0'21M1 27wUnn NN unn RN, Thunderbolt 2'7wun PCI Express (PCle) 1-DisplayPort (DP) qim'%?
TNX 7201 7100 QW' DT 7901 9011, TNX NI10 Yann. Thunderbolt 12 -1 Thunderbolt m> [1] "ann mixa o'wnnwn mini-DP (DisplayPort)
3 -w TIva 'op'n TI'¥7 112'n? Thunderbolt Nanna wnnwn USB aion C .

O

11'x. Thunderbolt 13 -1 Thunderbolt

1. Thunderbolt 12 -1 Thunderbolt (hanna niyxnxa miniDP)
2. Thunderbolt 3 (h1a'n nivxnxa USB aion C)

Thunderbolt 3 7y USB Type-C

3 Thunderbolt nx x'an Thunderbolt 7-USB aion C 40 Ty 7w nin'nna Gbps, 11a'nn NX Njpooni - 750 MR NWIYW NNKR N'O79NIR NR'Y' 1YY
3 .11¥'N N'W [21D 12D DN 1'YONA IX A¥ ,N1'AY NINN 757 AN 'M*75n-2701 nnn Thunderbolt no3/7anna wnnwn USB aion C 1o
qnna "9 TI'Y7 1annn®.

1. Thunderbolt 3 072521 7anna wnnwn USB aion C - 7'oni 'oponip Nin.
Thunderbolt 3 nmw? niaro na'a 40-7 Tv 7w nn'nna nin.
DisplayPort 1.4 - 1ax nxin DisplayPort, om®j n*231 nupnn

T nwn nzoox USB - n'onma nxawnna vxi 130 Ty

Hoon

3 7w nimp'y nnidn Thunderbolt 10T USB ai1on C

Thunderbolt, USB, DisplayPort 10T 7awni USB aion C 021w 0MXin |2 DNWN 0D1'9XNN) TNX 73101).
71ann USB Type-C nd'9n% n'anti 0 oponip 072101

N1 nin Thunderbolt (*0n1w pMxm 2 nanwn).

4Ty 7w oaxa nin K.

o'na-n'a 40 Ty

S IFNEINIES

®| DIV D'YIN] NIV NIFAY ANIYY DIININ NNAYa DN .

D21 AAI71Nd0 1"



2w n'"'"on Thunderbolt

Protocol USB Type-A USB Type-C Notes
Will use industry standard icon
regardless of port style
Thunderbolt Not Applicable (i.e.. mDP or USB Type-C)
Thunderbolt w/ Power ® - H
Delivery Not Applicable Up to 130 Watts via USB Type-C

v n'"'mon 7¥ ni'yx"MIn .2 'k Thunderbolt

nx'x' HDMI 2.0

NN NXI7ITA DTN wnn N 1aon nr kwin (HDMI) 2.0 rminnn rmninn nxl.

HDMInrwynn v 2y Jnnan [7N2 0INT X7 , XM 70T IRTI/YynY pwnn Kin . HDMI,oRIN 7020 T IRT1/YynY Aijpn 72 12 1NNy pwnn Xin
121 120 DVD '07pn IR AZV, n'2010T ATi70 (120 ,0NIN 00T IRT' IR/ ynw ax 1Y% (DTV). 2iarn oy nierri?o0 1y ormvirmn omiwtn HDMI
1221 DVD. 7w mz'wn NN HDMI pim v n1an7 12 wim'winl 07250 Nimd nixny Xin. HDMI iR I 191wn ,'01Tvo INT'IA N high-
definition, T272 TNX 7202 '7201,"70M0 T '¥INY-21 ynwa DI,

2w ninpnn HDMI 2.0

yiny HDMI Ethernet - 1177 nniaa nN'nna nw12 nTay 9oin HDMI R mwsikn 0Ipnnnn 27NN DX 7X17 o'wnnwun'? awoxn ai-IP
725 X977 DY Ethernet 1o

NN2INA N'T70 WWOKRN - 1IN ynw Yy HDMI 7232 71i¥n 7101 in, 1ik10 ynw ndwnY? "nyna ynw ima niwy +1 271wn 0%7jm oy
91 YNy

TAN-N7N2 "N TR MIYY TAN-N7N ‘PN 72177 10TN N7'70 1IN ,071TA Tan-N7NA IRT''0NNI97 0797077 21710 V' Tan - TAn-N7n
D"NMN

2NN 210 7Y 002NN MINNN NNTAN 2107 ATH70N NWON N 1A IPNNT XD 2 [N 210 7W MR NT2 NIN'X - 21N 210

0'9011 YAX 'NVY NIYNINA NP7'9IAQ1 *70'2'T DI7'¥] D'YNWAN 0'O011 YIX 'NATA N90I NN -

4-1 n>'nnK1080-7 1ayn NN IRTTI NIXIZITY NMWOKRA - p, NIYAWNN DNI'70'A'T Y717 NIDIYNL NNN' WK X2D TN DAY N2'NN N
D"INONN YI717n NINTIXN DA

7ann HDMI Micro - 1080 Ty 7w IX'T'I NI'YIZITIA N'AN 2'2yNn ,0NKR DT DIPNNEDAIDY0 1Ay NIF (VP ,WTh Nannp

NID'X NP9OX N 2D N0 7¢ NIFTINTD NIYATA TINYY7 T2 D2AXIVAN , 2017 IN'T'ENIdIYNY 0'WTN DN2ANNI 072D - 2371% 21N Ndwn
HD n'nmx

NN v arnnnn' HDMI

HDMI TnIma 2N AN nnia NIMN NIDR 17327 0'0INT X7 D702 T INT'I VAW 1'ayn 'MID'N.

HDMI 11301 VIYD |91 D'OINT X7 IN'T'1'UNNID 790N [ATA 121 70T PWAN 79 NI2IYI9N1 NID'RN DX 7901 1IN NI7yA.
HDMI '¥ny-27 TIRN0 7'9%7 TY1 727 INMVoN 7NN 0NN Yynw 'unnisa nin ynv.

HDMI ni>yna yad o'wnwnin 0'ann 0723 ¢ 7127201 NiadYmn  Niyn 2100 m 17N 72021 vy 21 ynwl IR e AV
HDMI |21 1120) IXT'ID in 22 Miwpna i DVD) ni-DTV, nwTn nifarpxao awsxn DAl

NVIDIA Quadro T1000

2 a'720. NVIDIA Quadro T1000

D'1"'9xN oY
Nj7'97a |ND'T 4GB
nnYn 768

|N3'T 09 2NN 128 Gbps
|IND'T A10 GDDR6
|ND'T pwnn 128 niaro

12 D' AfaI71dv



2 n72v. NVIDIA Quadro T1000(wnn)

D"1"'ONN oY
WY nIrNan 1395 - 1455 (Boost) MHz
0'oa v GPU 8000 MHz (2 nim'1m-P0)

NN 7awn NdMY NOWN

50 W

axN 7¢ ndMnn

eDP/mDP/HDMI/Type-C

‘27N yax iy

yax/niao 10 1

2 N>'N-API n7w9n NN IRTI/NR'972 11y

DirectX 12.0, OpenGL 4.6, DisplayPort 1.4, DirectX 12.1

D2 [V 2xp NnN nexim (Hz)

nx'x' mropn 70T DisplayPort 1.4 nT'n' - 7680 x 4320 (8K)
30-aHz (mDP/Typc-c 7-DP)
NIRY' MY 'mropn 70T DisplayPort 1.4 - 7680 x 4320 (8K)
60-aHz (mDP/Type-c 7-DP)

D'DNNI DAY 190N nnax 4Ty
NVIDIA Quadro T2000
3 n7av. NVIDIA Quadro T2000

D'1"'9NN 0w

Nj7'o7 |ND'T 4GB

ni'n 1024

|27 09 aNN 128 Gbps

|IND'T 10 GDDRG6

|ND'T pwnn 128 niaro

|IVY nI'Nan 1575 - 1785 (Boost) MHz

001 yw GPU

3504 MHz (2 nm'1'n-P0)

NN 7Un NdMX NdWN

60 W

XN 7w ndMnn

eDP/mDP/HDMI/Type-C

'27N0 Vax iy

vay/nraro 10 v

2 n>'N-API n7w9n NN IRTI/Nj'912 11y

DirectX 12.0, OpenGL 4.6, DisplayPort 1.4, DirectX 12.1

D3N [V X NPnN nexim (Hz)

Max Digital :nxx' DisplayPort 1.4 n1'n' - 7680 x 4320 (8K)
30-aHz (mDP/Typc-c 7-DP)
Max Digital: nix'¥' 'mw DisplayPort 1.4 - 7680 x 4320 (8K)
60-aHz (mDP/Typc-c 7-DP)

D'>NN1 D'AX 190N Dax 4Ty
NVIDIA Quadro RTX3000
4 a'7a0. NVIDIA Quadro RTX3000
D"2''ONN DY
Nj'o7 N7 6 GB
nn'n 2304

02271 A'AI71200

13



4 a'7a0. NVIDIA Quadro RTX3000(qwnn)

0'1''ONN oDy
|ND'T 09 ANN 336 Gbps

|IN2'T 210 GDDR6

|N2'T pwnn 192 niao

WY nIrNan 945 - 1380 (Boost) MHz

o001 |y GPU

3504 MHz (2 nin'a1n-PO)

NN 7wn Nd>MX NdWN

80 vxil

%N 7w ndMnn

eDP/mDP/HDMI/Type-C

‘271 yax iy

yax/nio 10 1

2 NOMN-APIn7u90 ndAyna IXTI/NR'9A 1Ay

DirectX 12.0, OpenGL 4.6, DisplayPort 1.4, DirectX 12.1

D"2N 12T 2XPI NdAN NN (Hz)

nx'x' mropn 7007 DisplayPort 1.4 nT'n' - 7680 x 4320 (8K)
30-aHz (mDP/Type-c 7-DP)
NIR'Y' MY *7nrojm 0T DisplayPort 1.4 - 7680 x 4320 (8K)
60-aHz (mDP/Type-c 7-DP)

D'>NN1 DAY 190N Dax 4 Ty
NVIDIA Quadro RTX4000
Table 5. NVIDIA Quadro RTX4000
Feature Values
Graphics memory 8 GB
Cores 2560
Memory bandwidth 448 Gbps
Memory type GDDR6
Memory Interface 256-bit

Clock Speeds 1110 - 1560 (Boost) MHz
GPU base clock 14000 MHz
Estimated Maximum Power 80 W

Display Support

eDP/mDP/HDMI/Type-C

Maximum Color Depth

Up to 10 bit/color

Operating Systems Graphics/ Video API Support

DirectX 12.0, OpenGL 4.6, DisplayPort 1.4, DirectX 12.1

Supported Resolutions and Max Refresh Rates (Hz)

Max Digital : Single DisplayPort 1.4 - 7680 x 4320 (8k) @ 30 Hz
(mDP/Type-c to DP)

Max Digital : Dual DisplayPort 1.4 - 7680 x 4320 (8k) @ 60 Hz
(mDP/Type-c to DP)

Numbers of Display Support

Up to 4 displays

14 D' N7’




NVIDIA Quadro RTX5000

Table 6. NVIDIA Quadro RTX5000

Feature Values
Graphics memory 16 GB
Cores 3072
Memory bandwidth 448 Gbps
Memory type GDDR6
Memory Interface 256-bit

Clock Speeds 1035 / 1350 - 1545 / 1770 (Boost) MHz
GPU base clock 14000 MHz
Estimated Maximum Power 80 W

Display Support

eDP/mDP/HDMI/Type-C

Maximum Color Depth

Up to 10 bit/color

Operating Systems Graphics/ Video APl Support

DirectX 12.0, OpenGL 4.6, DisplayPort 1.4, DirectX 12.1

Supported Resolutions and Max Refresh Rates (Hz)

Max Digital : Single DisplayPort 1.4 - 7680 x 4320 (8k) @ 30 Hz
(mDP/Type-C to DP)

Max Digital : Dual DisplayPort 1.4 - 7680 x 4320 (8k) @ 60 Hz
(mDP/Type-C to DP)

Numbers of Display Support

Up to 4 displays

D271 AAI71Nd0 15



N2l 2N'S

N 0'V1D-SD

N 0'0YD Non-SD

D'MTRIN D'XIN

1. awnnn 7w 09N 1I'P7N 7Y NTIAYN 197 9021 019NN 1*7NN DR VX,

IT AaN'Yn NITIR

N 0'07D DIPM NX |"¥N 'RN-SD Xan NPON TNNA VL'WY NIRIMN .NI0NN 70 7¢ MITN AIX" 7o0n!.

o1y

1. N 0'01d 7 yn?-SD awnnnn NINY'Y 15 019 '9'7).
2. n 0w NX 77nn-SD awnn? yinn 7x.

n 0'01d Mpgnn-SD

D'MTRIN D'XIN

NIPNNN ™70 VIN 1197 0MTEn 0N DX 10N ,2D0 N97NN Yy¥an NNN DX.

IT AaN'Yn NITIR
MIZNNN 707U NITN X 79011 0'02N NOdN DIZ'M NX [V'¥N IR,

NX2N N'POoN 1IThNa |I.UU'7 Y'Y Niinn

nnv

N 0'0Yd NX P7NN-SD NY'712 IMIpn'? 012w TV AwNN1a ynn M.

0'Nan DA7UN

1. awnnn 7w 0mon PPN 72V NTIAYN AINK7 9'w02 V1IN )'7NN DR VXA,

N N71-SSD

Removing SSD door

Prerequisites

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.

About this task

The figure indicates the location of the SSD door reader and provides a visual representation of the removal procedure.

16 nadNI 7IN'D



\
Il H [ H\ \h I H l H\ l \H \H |
000000
L
—_—

3

.. i

Precision 7750 ‘
i

I |

TR IO ERRCEEERTCCEERRTCETETTCEEFETI CEFT TN EEEET CEEFTTUE M

Steps

1. Push the SSD door towards left side to release the SSD door from the base cover.
2. Remove the SSD door from the base cover.

Installing SSD door

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the SSD door and provides a visual representation of the installation procedure.

nadNI 7o 17



O
0000000
L
—_—

Precision 7750
|

T
I

Steps

1. Place the SSD door into its slot on the base cover.
2. Push the SSD door towards right side to lock the SSD door.

Next steps

1. Install the SD card.
2. Follow the procedure in after working inside your computer.

aD solid state aion nwn M.2

Removing the secondary M.2 Solid-state drive

Prerequisites

@l NOTE: For computers shipped with M.2 2280 or 2230 SSD installed in slot 4.

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.
8. Remove the SSD door.

About this task

The figure indicates the location of the secondary M.2 SSD and provides a visual representation of the removal procedure.

18 nadINI 7o



il ‘\‘HM\‘__\
MY
W

A

Steps

Slide the SSD release latch to unlock the SSD module.

Remove the (M2x3) screw that secures the SSD module into its slot on the computer.
Remove the SSD module from the computer.

Remove the (M2x3) screw that secures the SSD thermal pad to the SSD carrier.
Remove the SSD thermal pad from the SSD module.

For M.2 2280 SSD:

a. Remove the M.2 2280 SSD from the SSD carrier.

7. For M.2 2230 SSD:

a. Remove the M.2 2230 SSD with its holder from the SSD carrier.

b. Remove the (M2x2) screw to secure the M.2 2230 SSD to its holder.

c. Remove the SSD from the holder.

oo A oN

Installing the secondary M.2 SSD module

Prerequisites
@l NOTE: For computers shipped with M.2 2280 or 2230 SSD installed in slot 4.

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the secondary M.2 SSD and provides a visual representation of the installation procedure.

naoal pin's

19



Steps

1. For M.2 2280 SSD:
a. Place the M.2 SSD onto its slot on SSD carrier.
2. For M.2 2230 SSD:
a. Place the M.2 SSD into the SSD holder.
b. Replace the (M2x2) screw to secure the M.2 SSD to the holder.
c. Place the M.2 SSD with its holder on the SSD carrier.
Place the thermal plate above the M.2 SSD module.
Replace the (M2x3) screw to secure the SSD thermal plate to the M.2 SSD.
Replace the SSD module in its slot on the computer.
Replace the (M2x3) screw to secure the SSD module in place.

SIS RN

Next steps

1. Install the SSD door.
2. Install the SD card.
3. Follow the procedure in after working inside your computer.

0'Oan '10D

Removing the base cover

Prerequisites

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.

About this task

The figure indicates the location of the base cover and provides a visual representation of the removal procedure

20 nadI 7D



2 AON 3G T

||I||||||||||||||||||||||||||||||||||||||||I||||||||||||||"
M |||||||||||||||||||||||||||

5 AON G

1YL PN 21



Steps
1. Loosen the eight captive screws that secure the base cover to the computer.
2. Using a plastic scribe, pry open the base cover starting from bottom edge of the cover.
@ NOTE: For models shipped without SmartCard reader, pry open the base cover from the smart card reader slot. Use
your fingers to pry open the base cover as the use of plastic scribe or any other sharp objects may damage the base
cover.

22 nadI 7D



3. Lift the base cover starting from the bottom edge and remove it from the computer.
4. Disconnect the battery cable from the connector on the system board.

Installing the base cover

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the base cover and provides a visual representation of the installation procedure.

naoal pin's

23



‘
LY

| O 5 3

24 nadI 7D



Steps

1. Connect the battery cable to the connector on the system board.
2. Slide the base cover into its slot until it clicks into place.
3. Tighten the eight captive screws to secure the base cover to the computer.

Next steps

1. Install the SD card.
2. Follow the procedure in after working inside your computer.

n'7710
[I'-01'N'7 N7710 N1AY NINAT 'YX

+ [I*-DI'n'™ NI77102 719'0 NYa NNAT NIWN VI,

+ NNNA DXNNA 7IN1 NIY¥NXA NXRT Y¥A? [N .NdWNan aNYon 1197 [N1a '35 n'7710n nx pino AC a%710% "woNY 15 ndaynan
linaY.

+ DT 0'¥9N NIY¥NX1A 277100 NX 2717 IX N'NwaY ,'1'oa’7 ,Ivn' 'X.

+ n2¥ n'RNAl 277100 TINN DX 2197 IX NN DNIVISNLVY 277100 NX YIYNY 'X.

« 77100 7w nvwa 19 7y YN 'yoa’ I'N.

+ %7100 NX 99D 'N.

« Yn'7 'y 'yoa’ Ix 077100 AR NNWY FTO 210 o0 02 wnnwaY I'N.

+ aY'710%7 a21w2 7T IN AP YN T3 121 K70 DINA DNIX NRAY IR DAN2AN TRR TaX? X7 1aTn,0T XA 710'on 170na
D"INX N>Wn "I

« 210N 17710 NO'YN IX 191 ,A12"1 [12D NIZIYOY [I1I'DN ANIX Y707 NI01Y7 'K ,NINDINAN AXYIND AWNnNa N2 nyjpm a'%7710n ox
7w ndLVA Nd'NNY N1O ,NTY NN .NNdIoN NI NI jir-nirn'? Dell namda 372 .yrro n'7ap? www.dell.com/
contactdell.

+ N nIMp nivo wida? Tan 1opa-www.dell.com v n'wain nfpnwni n'oniwn Ix Dell.

Removing the battery

Prerequisites

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.
3. Remove the base cover.

About this task

The figure indicates the location of the battery and provides a visual representation of the removal procedure.

naoal gN'e

25


https://www.dell.com/support
https://www.dell.com/support
https://www.dell.com

3x
M2x5

Steps

1. Remove the three (M2x5) screws that secure the battery to the computer.
2. Slightly lift the battery and disconnect the battery cable from the connector on the battery.
3. Remove the battery away from the computer.

Installing the battery

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the battery and provides a visual representation of the installation procedure.

26 hbRhIE IR l)



3x
M2x5

Steps

1. Connect the battery cable to the connector in the battery.
2. Place the battery onto its slot in the computer.
3. Replace the three (M2x5) screws to secure the battery to the computer.

Next steps

1. Install the base cover.
2. Install the SD card.
3. Follow the procedure in after working inside your computer.

a1D Solid State

Removing the primary M.2 Solid-state drive

Prerequisites

®| NOTE: For computers shipped with M.2 2280 or 2230 SSD installed in slot 3 and/or slot 5.

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.
3. Remove the base cover.

About this task

The figure indicates the location of the primary M.2 SSD and provides a visual representation of the removal procedure.

naoal gN'e



Steps
1

2.
3.

28

Remove the (M2x3) screw that secures the SSD thermal plate to the M.2 SSD module.
Remove the SSD thermal plate.

For M.2 2280 SSD:

a. Remove the (M2x3) screw that secures the M.2 SSD to the computer.
b. Remove the M.2 SSD.

For M.2 2230 SSD:

a. Remove the (M2x3) screw that secures the SSD module.

b. Remove the SSD module from the computer.

c. Remove the (M2x2) screw that secures the SSD to SSD holder.

d. Remove the SSD from the holder.

Repeat the above steps to remove the other SSD modules in the computer.

naoal gN'es



Installing the primary M.2 SSD module

Prerequisites
®| NOTE: For computers shipped with M.2 2280 or 2230 SSD installed in slot 3 and/or slot 5.
If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the primary M.2 SSD and provides a visual representation of the installation procedure.

Steps
1. For M.2 2280 SSD:

a. Place the M.2 SSD onto its slot on the computer.
b. Replace the (M2x3) screw to secure the M.2 SSD to the computer.

hebRhIEr IR l) 29



2. For M.2 2230 SSD:
a. Place the M.2 SSD into the SSD holder.
b. Replace the (M2x2) screw to secure the M.2 SSD to the holder.
¢. Place the M.2 SSD module onto its slot on the computer.
d. Replace the (M2x3) screw to secure the M.2 SSD module to the computer.
3. Place the thermal plate above the M.2 SSD module.
Replace the (M2x3) screw to secure the SSD thermal plate to the M.2 SSD.
B. Repeat the above steps to install the other SSD modules in the computer.

e

Next steps

1. Install the base cover.
2. Install the SD card.
3. Follow the procedure in after working inside your computer.

YN JNO'T 21TIN

Removing the secondary memory module

Prerequisites

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.
8. Remove the base cover.

About this task

The figure indicates the location of the secondary memory module and provides a visual representation of the removal procedure.

Steps

1. Pry the securing clips from both side of the memory module until the memory module pops up.
2. Remove the memory module from the memory-module slot.

30 nadI 7D



Installing the secondary memory module

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the secondary and provides a visual representation of the installation procedure.

Steps

1. Align the notch on the memory module with the tab on the memory-module slot.
2. Slide the memory module firmly into the slot and press the memory module until it clicks into place.

@l NOTE: If you do not hear the click, remove the memory module and reinstall it.

Next steps

1. Install the base cover.
2. Install the SD card.
3. Follow the procedure in after working inside your computer.

o'uv1) SIM

Removing the SIM card

Prerequisites

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.
3. Remove the base cover.

About this task

The figure indicates the location of the SIM card and provides a visual representation of the removal procedure.

nadINI 7D 31



Steps
1. Gently slide the SIM card cover towards the left side of the system to unlock the SIM card cover.

The SIM card cover is very fragile and can be easily damaged if it is not properly unlocked before opening.

2. Filp the right edge of the SIM card cover to open it.
3. Remove the SIM card from the SIM card slot.

Installing the SIM card

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the SIM card and provides a visual representation of the installation procedure.

32 hbRhIE IR l)



Steps

1. Slide the SIM card into the SIM card slot.
2. Snap the SIM card cover down.

3. Slide the SIM card cover towards the right of the system to lock the cover.

Next steps

1. Install the base cover.
2. Install the SD card.
3. Follow the procedure in after working inside your computer.

n 0'V1D-WLAN

Removing the WLAN card

Prerequisites

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.
8. Remove the base cover.

About this task

The figure indicates the location of the WLAN card and provides a visual representation of the removal procedure.

naoal pin's

33



Steps

Loosen the captive screw that secures the WLAN card bracket to the system board.
Remove the WLAN card bracket away from the WLAN card.

Disconnect the antenna cables from the WLAN card.

Slide at an angle and remove the WLAN card from the connector on the system board.

Installing the WLAN card

Do =

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the WLAN card and provides a visual representation of the installation procedure.

Steps

1.
2,
3.
4.

Next steps

Insert the WLAN card to the connector on the system board.

Connect the antenna cables to the WLAN card.

Align and place the WLAN card bracket above the WLAN card to secure the antenna cables.
Tighten the captive screw to secure the WLAN card bracket to the system board.

1. Install the base cover.

34 hebRhIE IR l)



2. Install the SD card.
3. Follow the procedure in after working inside your computer.

n o'uv1d-WWAN

Removing the WWAN card

Prerequisites

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.
3. Remove the base cover.

About this task

The figure indicates the location of the WWAN card and provides a visual representation of the removal procedure.

Steps

1. Loosen the (M2x3) screw that secures the WWAN card bracket to the system board.
2. Lift the WWAN card bracket from the WWAN card.

3. Disconnect the antenna cables from the connector on the WWAN card.

4. Slide and remove the WWAN card from its slot on the system board.

Installing the WWAN card

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the WWAN card and provides a visual representation of the installation procedure.

Steps
1. Align and slide the WWAN card to its slot on the system board.

naoal gN'e

35



2. Connect the antenna cables to the connectors on the WWAN card.
3. Place the WWAN card bracket above the WWAN card to secure the antenna cables.
4. Tighten the (M2x3) screw to secure the WWAN card bracket to the system board.

Next steps

1. Install the base cover.
2. Install the SD card.
3. Follow the procedure in after working inside your computer.

N1 nwn

Removing the keyboard lattice

Prerequisites

1. Follow the procedure in before working inside your computer.
2. Remove the SD card.
3. Remove the base cover.

About this task

The figure indicates the location of the keyboard lattice and provides a visual representation of the removal procedure.

backspace

delete.

Steps

1. Using a plastic scribe, pry the top edge of the keyboard lattice starting from the recess points and working your way around the sides
and bottom edge.

2. Remove the keyboard lattice from the keyboard.

36 nadI 7D



Installing the keyboard lattice

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the M.2 SSD and provides a visual representation of the installation procedure.

insert delete

backspace

capslock

Steps

1. Align the keyboard lattice to its position on the keyboard.
2. Press the edges on the keyboard lattice until it clicks into place.

Next steps

1. Install the base cover.
2. Install the SD card.
3. Follow the procedure in after working inside your computer.

nTm

Removing the keyboard

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the keyboard lattice.

S FNEINIES

naoal pin's

37



About this task

The figure indicates the location of the keyboard and provides a visual representation of the removal procedure.

delete

backspace

. d
5 3 -
S 2 3 4 5 6 8 9 0 - =
— |
q )
&) Q | fw E R T v U | 0 P i ]
L] o “
capslock A S D F G H J K ; :

Steps

Lift the latch and disconnect the keyboard cable and the keyboard backlight cable from the connectors on the touchpad module.
Turn-over and open the system at 90° angle.

Remove the seven (M2x2) screws that secure the keyboard to the palmrest.

Pry the bottom edge of the keyboard and then work along the left and the right sides of the keyboard.

Carefully unroute the keyboard backlight cable and the keyboard cable through the palmrest.

Remove the keyboard from the system.

3 BNV EES

Installing the keyboard

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the keyboard and provides a visual representation of the installation procedure.

38 nadI 7D



delete

backspace

F3 5
S © 2 3 4 ; 6
. L)
= Q w E R T ¥ | (0)
o & SR
capslock .A S D F (€} H J S L

Steps

Align the keyboard to its slot on the palmrest

Route the keyboard cable and the keyboard backlight cable through the bottom of the palmrest.
Replace the seven (M2x2) screws to secure the keyboard to the palmrest.

Turn-over the system at 90° angle to access the keyboard and the keyboard backlight cables.

S IF NSRS

@l NOTE: Ensure that you fold the keyboard data cable in perfect alignment.

Next steps

1. Install the keyboard lattice.

2. Install the battery.

3. Install the base cover.

4. |Install the SD card.

5. Follow the procedure in after working inside your computer.

Connect the keyboard backlight cable and the keyboard cable to the connectors on the system board.

naoal pin's

39



'WUN [IND'T 71TIN

Removing the primary memory module

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the keyboard lattice.

Remove the keyboard.

SN NSRS

About this task

The figure indicates the location of the primary memory module and provides a visual representation of the removal procedure.

Steps

1. Remove the (M2x3) screw that secures the memory shield in place.

40 nadI 7D



2. Lift the memory shield from the memory module to remove it from the computer.
Pry the securing clips from both side of the memory module until the memory module pops up.
4. Remove the memory module from the memory-module slot.

o

@l NOTE: Repeat the above steps if there are other memory installed.

Installing the primary memory module

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the primary memory module and provides a visual representation of the installation procedure.

Steps

1. Align the notch on the memory module with the tab on the memory-module slot.
2. Slide the memory module firmly into the slot at an angle and press the memory module down until it clicks into place.
3. Carefully align the two clips on the memory shield with the slots on the computer chassis and insert the clips under the chassis.

nadINI 7D 11



4. Place the memory shield above the memory module.
B. Replace the (M2x3) screw to secure the memory shield to the memory module.

Next steps

Install the keyboard.

Install the keyboard lattice.

Install the battery.

Install the base cover.

Install the SD card.

Follow the procedure in after working inside your computer.

IS P NS SRE

NP qiA

Removing the heat-sink assembly

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Do =

About this task

The figure indicates the location of the heat-sink assembly and provides a visual representation of the removal procedure.

Steps

1. Peel the power-adapter cable from the heat-sink assembly.
2. Disconnect the two fan cables from the connectors on the system board.
3. Loosen the eight captive screws that secure the heat-sink assembly to the system board.

NOTE: Loosen the captive screws in the order stamped onto the heat-sink assembly next to the screws [1>2>3>4
>5>6>7>8].

42 hbRhIE IR l)



4. Lift the heat-sink assembly to remove it from the computer.

Installing the heat sink assembly

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the keyboard and provides a visual representation of the installation procedure.

Steps

1. Align and insert the heat-sink assembly into its slot on the computer.
2. Tighten the eight captive screws to secure the heat-sink assembly to the system board.
@ NOTE: Tighten the captive screws in the order stamped onto the heat sink next to the screws [1>2>3>4>5>6>
7 > 8].

3. Connect the two fan cables to the connector on the system board.
4. Adhere the power-adapter cable on the heat-sink assembly.

Next steps

1. Install the battery.

2. Install the base cover.

3. Install the SD card.

4. Follow the procedure in after working inside your computer.

hebR bR l) 43



NnUYN DXNN NN

Removing the power-adapter port

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the heat-sink assembly.

S IF NSRS

About this task

The figure indicates the location of the power-adapter port and provides a visual representation of the removal procedure.

1x
M2x3

Steps

1. Remove the (M2x3) screw that secures power-adapter cable bracket.

2. Remove the power-adapter cable bracket from the computer.

3. Lift the power-adapter port from its slot on the palmrest.

4. Slide the power-adapter cable towards the rear side of the computer to remove the cable from the computer.

Installing the power-adapter port

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the power-adapter port and provides a visual representation of the installation procedure.

44 hebRhIE IR l)



Steps

1. Align and place the power-adapter cable on the computer.

2. Place the power-adapter port into its slot on the plamrest.

3. Replace the power-adapter cable bracket on the power-adapter port.

4. Replace the (M2x3) screw to secure the power-adapter cable bracket to the computer.
B. Connect the power-adapter cable to the connector on the system board.

Next steps

1. Install the heat-sink assembly.

2. Install the battery.

3. |Install the base cover.

4, Install the SD card.

B. Follow the procedure in after working inside your computer.

n7Y90n |¥N7 ni17?

Removing the power button board

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the heat-sink assembly.

[P NS RIES

About this task

The figure indicates the location of the power button board and provides a visual representation of the removal procedure.

hebR bR l) 45



1x
M2x3

Steps

1. Disconnect the power button board cable from the connector on the system board.

2. Peel the power button board cable from the palmrest.

3. Remove the (M2x3) screw that secures the power button board to the computer.

4. Remove the power button board with the power button board cable from the computer.
B. Disconnect the power button board cable from the power button board.

Installing the power button board

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the power button board and provides a visual representation of the installation procedure.

46 hbRhIE IR l)



1x
M2x3

A

L

A
-

8

Steps

1. Connect the power button board cable to the power button board.

2. Align and place the power button board with power button cable into its slot on the computer.
3. Replace the (M2x3) screw to secure the power button board.

4. Adhere the power button board cable to the palmrest.

5. Connect the power button board cable to the connector on the system board.
Next steps

1. Install the heat-sink assembly.

2. Install the battery.

3. Install the base cover.

4. Install the SD card.

B. Follow the procedure in after working inside your computer.

NIYAXX NIYAL X OY 27900 [¥N7 NIY7

Removing the power button assembly with fingerprint
reader

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the heat-sink assembly.

S PN RIES

About this task

The figure indicates the location of the power button assembly with fingerprint reader and provides a visual representation of the removal
procedure.

hebR bR l) 47



Steps

1.

O N OA NN

Remove the (M2.5x2.5) screw that secures the power button assembly with fingerprint reader cable bracket to the power button
board.

Remove the power button assembly with fingerprint reader cable bracket from the power button board.
Disconnect the power button assembly with fingerprint reader cable from the power button board.
Disconnect the power button board cable from the connector on the system board.

Peel the power button board cable from the palmrest.

Remove the (M2x3) screw that secures the power button board to the computer.

Remove the power button board with the power button board cable from the computer.

Disconnect the power button board cable from the power button board.

Installing the power button assembly with fingerprint
reader

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the power button assembly with fingerprint reader and provides a visual representation of the
installation procedure.

Steps

1. Connect the power button board cable to the power button board.

2. Align and place the power button board with power button cable into its slot on the computer.

3. Replace the (M2x3) screw to secure the power button board.

4. Adhere the power button board cable to the palmrest.

5. Connect the power button board cable to the connector on the system board.

6. Connect the power button assembly with fingerprint reader cable to the power button board,

7. Replace the power button assembly with fingerprint reader cable bracket above the power button daughter board.
8. Replace the (M2.5x2.5) screw to secure the power button assembly with fingerprint reader cable bracket in place.
Next steps

1. Install the heat-sink assembly.

2. Install the battery.

3. Install the base cover.

4. Install the SD card.

B. Follow the procedure in after working inside your computer.

NN Nhaon

Removing the inner frame

Prerequisites

NOONN S

48

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the WLAN card.

Remove the WWAN card.

Remove the primary M.2 SSD.

naoal gN's



About this task

The figure indicates the location of the inner frame and provides a visual representation of the removal procedure.

) @

8x 10x
M2x5 M2x2.5

Steps

1. Unroute the WLAN and WWAN antenna cables from the routing guide.
2. Remove the eight (M2x5) and the ten (M2x2.5) screws that secure the inner frame to the computer chassis.
3. Remove the inner frame from the computer.

Installing the inner frame

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the inner frame and provides a visual representation of the installation procedure.

naoal gN'e

49



) @

8x 10x
M2x5 M2x2.5

Steps

1. Align and place the inner frame in the computer chassis.
2. Replace the eight (M2x5) and the ten (M2x2.5) screws to secure the inner frame in place.
3. Route the WLAN and WWAN antenna cables through the routing guide.

Next steps

Install the WLAN card.

Install the WWAN card.

Install the primary M.2 SSD.

Install the battery.

Install the base cover.

Install the SD card.

Follow the procedure in after working inside your computer.

NO oD oINS

nDONN O'VIDN AI'D

Removing the smart-card reader

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the primary M.2 SSD.

Remove the inner frame.

S P NS SR

50 hbRhIE IR l)



About this task

The figure indicates the location of the smart-card reader and provides a visual representation of the removal procedure.

2x
M2x2.5

Steps

1. Disconnect the touchpad buttons cable from the touchpad.

2. Disconnect the smart-card reader cable from the connector on the USH daughter board.
3. Peel the smart-card reader cable from the touchpad.

4. Remove the two (M2x2.5) screws that secure the smart-card reader to the computer.
B. Remove the smart-card reader from the computer.

Installing the smart-card reader

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the smart-card reader and provides a visual representation of the installation procedure.

habRhIEr IR l) 51



2x
M2x2.5

Steps

1. Align and place the smart-card reader into its slot on the computer.

2. Replace the two (M2x2.5) screws to secure the smart-card reader in place.
3. Adhere the smart-card reader cable to the touchpad.

4. Connect the smart-card reader cable to the connector on the USH daughter board.
B. Connect the touchpad button cable to the connector on the touchpad.
Next steps

1. Install the primary M.2 SSD.

2. Install the inner frame.

3. Install the battery.

4. Install the base cover.

5. Install the SD card.

6. Follow the procedure in after working inside your computer.

yan nown |xn%

Removing the Touchpad buttons

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the primary M.2 SSD.

Remove the inner frame.

N NSRS

About this task

The figure indicates the location of the touchpad buttons and provides a visual representation of the removal procedure.

52 hbRhIE IR l)



2x
M2x2.5

Steps

1. Disconnect the touchpad buttons cable from the connector on the touchpad.
2. Remove the two (M2x2.5) screws that secure the touchpad buttons to the palmrest.
3. Remove the touchpad buttons from the palmrest.

Installing the Touchpad buttons

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the touchpad buttons and provides a visual representation of the installation procedure.

naoal gN'e

53



Steps

1. Place the touchpad buttons into its slot in the palmrest.
2. Replace the two (M2x2.5) screws to secure the touchpad buttons to the palmrest
3. Connect the touchpad buttons cable to the connector in the touchpad.

Next steps

Install the inner frame.

Install the primary M.2 SSD.

Install the battery.

Install the base cover.

Install the SD card.

Follow the procedure in after working inside your computer.

3 IF NSRS

0'0vYD NI SD

Removing SD card reader

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the primary M.2 SSD.

Remove the WWAN card.

Remove the WLAN card.

Remove the inner frame.

©OND OIS NS

About this task

The figure indicates the location of the SD card reader and provides a visual representation of the removal procedure.

Steps

1. Disconnect the SD card reader cable from the connector on the system board.

54 hbRhIE IR l)



2. Disconnect the LED board cable from the SD card reader on the bottom side of the computer.
3. Remove the (M2x2) screw that secures the SD card reader in place.
4. Slide and remove the SD card reader with its cable out of the computer.

Installing SD card reader

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the SD card reader and provides a visual representation of the installation procedure.

2x
M2x2

Steps

Align and place the SD care reader with its slot on the palmrest.

Replace the (M2x2) screw to secure the SD card reader to the palmrest.

Connect the LED board cable to the SD card reader on the bottom side of the computer.
Connect the SD card reader cable to the connector on the system board.

Ao e

Next steps

Install the inner frame.

Install the WLAN card.

Install the WWAN card.

Install the primary M.2 SSD.

Install the inner frame.

Install the battery.

Install the base cover.

Install the SD card.

Follow the procedure in after working inside your computer.

©ONDO A NN

naoal gN'e

55



n7Y9n |¥n?

Removing the power button

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the heat-sink assembly.

Remove the power button board.

SN NSRS

About this task

The figure indicates the location of the power button and provides a visual representation of the removal procedure.

2x
M2x3

ORS8O,

I

Steps

1. Remove the two (M2x3) screws that secure the power button in its slot on the computer.
2. Remove the power button from the computer.

Installing the power button

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the power button and provides a visual representation of the installation procedure.

56 hebRhIE IR l)



2x
M2x3

v

Steps

1. Place the power button into its slot on the computer.
2. Replace the two (M2x3) screws to secure the power button in place.

Next steps

Install the power button board.

Install the heat-sink assembly.

Install the battery.

Install the base cover.

Install the SD card.

Follow the procedure in after working inside your computer.

3 IF NSRS

NIYAXN NIY'AV X1 DY 27V90 [¥n7 7170n

Removing the power button assembly with fingerprint
reader

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the heat-sink assembly.

Remove the power button board assembly with fingerprint reader.

oo s oN

About this task

The figure indicates the location of the power button and provides a visual representation of the removal procedure.

naoal gN'e

57



2x
M2x3

Steps

1. Remove the two (M2x3) screws that secure the power button assembly with fingerprint reader in its slot on the computer.
2. Remove the power button assembly with fingerprint reader from the computer.

Installing the power button assembly with fingerprint
reader

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the power button and provides a visual representation of the installation procedure.

2x
M2x3

58 hbRhIE IR l)



Steps

1. Place the power button assembly with fingerprint reader into its slot on the computer.
2. Replace the two (M2x3) screws to secure the power button assembly with fingerprint reader in place.

Next steps

Install the power button board assembly with fingerprint reader.
Install the heat-sink assembly.

Install the battery.

Install the base cover.

Install the SD card.

Follow the procedure in after working inside your computer.

‘‘nwn 720 GPU

3 BN

Removing the GPU power cable

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the base cover.

Remove the battery.

Remove the keyboard lattice.

Remove the keyboard.

N F NSRS

About this task

The figure indicates the location of the GPU power cable and provides a visual representation of the removal procedure.

Steps

1. Carefully pry the GPU power cable connector outside the end of the connector head to unlock the GPU power cable connector from

the GPU card.

naoal gN'e

59



2. Slightly slide the GPU power cable connector outwards to disconnect the GPU power cable from the GPU card.
3. Repeat the above steps to disconnect the GPU power cable from the system board.
4. Peel the GPU power cable from the computer.

Installing the GPU power cable

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the GPU power cable and provides a visual representation of the installation procedure.

Steps

1. Adhere the GPU power cable into its slot on the computer.

2. Disconnect the GPU power cable from the connector on the system board.

3. Slide the GPU power cable connector into its slot to connect the GPU power cable to the GPU card.
4. Lock the GPU power cable connector to secure the GPU card.

Next steps

Install the keyboard.

Install the keyboard lattice.

Install the battery.

Install the base cover.

Install the SD card.

Follow the procedure in after working inside your computer.

S PN ST SR

60 hbRhIE IR l)



ndo>wna niy

Removing the system board

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.
. Remove the WWAN card.
Remove the WLAN card.
. Remove the keyboard lattice.
. Remove the keyboard.
. Remove the primary memory.
. Remove the heat-sink assembly.
. Remove the inner frame.

OCOPENDOA NN

N Y
O oD WNDN O

About this task

The figure indicates the location of the system board and provides a visual representation of the removal procedure. Images to be
uploaded in the next review cycle.

®| NOTE: For discrete models shipped with GPU card:

hebR bR l) 61



4x 1x
M2x5 M2x3

Steps

1. Carefully pry the GPU power cable connector outside the end of the connector head to unlock the GPU power cable connector from
the system board on top side of the system.

2. Slightly slide the GPU power cable connector outwards to disconnect the GPU power cable from the connector on the system board.

3. Disconnect the speaker cable and the SD card reader cable from the connectors on the system board.

4. Disconnect the touch screen cable (for models shipped with a touch screen) or IR camera cable (for models shipped with an IR
camera), power adapter cable, touchpad cable, USH daughter board cable (for models shipped with a USH daughter board), and
power button board cable from the system board.

B. Remove the (M2x3) screw that secures the Darwin cable bracket in place.

6. Remove the Darwin cable bracket.

7. Disconnect the Darwin cables from the connectors on the system board.

8. Remove the six (M2x3) screws that secure the three beam connectors in place on the bottom of the system.

®| NOTE: This step is applicable for discrete models shipped with 256 MB VRAM GPU card.

9. Remove the four (M2x3) screws that secure the two beam connectors in place on the bottom of the system.

®| NOTE: This step is applicable for discrete models shipped with 128 MB VRAM GPU card.

62 hbRhIE IR l)



10.

1.

12.
13.
14.
15.
16.

NOTE: For UMA models, remove the two (M2x3) screws that secure the single beam connector in place on the
bottom of the system.

Remove the beam connectors from the computer.

Remove the (M2x5) screw that secures the display cable bracket in place.

Remove the display cable bracket from the computer.

Disconnect the display cable from the connector on the system board.

Remove the three (M2x5) screws that secure the system board to the computer.

Pry the coin-cell battery, located under the system board, from the palmrest while lifting the system board.
Remove the system board from the computer.

Installing the system board

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the system board and provides a visual representation of the installation procedure.

naoal gN'e

63



4x 1x
M2x5 M2x3

64 hbRhIE IR l)



Steps

S

© PN oA

Adhere the coin-cell battery to the palmrest and then place the system board on its slot on the palmrest.
Replace the three (M2x5) screws to secure the system board to the palmrest.

Connect the display cable, touch screen cable (for models shipped with a touch screen) or IR camera cable (for models shipped with
an IR camera), power adapter cable, touchpad cable, USH daughter board FFC (for models shipped with a USH daughter board), and
power button board cable to the connectors on the system board.

Replace the display cable bracket on the display cable.

Replace the (M2x5) screw to secure the display cable bracket to the system board.
Connect the Darwin cables to the connectors on the system board.

Replace the Darwin cable bracket on the Darwin cable connector.

Replace the (M2x3) screw to secure the Darwin cable bracket to the system board.
Connect the beam connectors on the system board.

@ NOTE:

+ For UMA models, replace the two (M2x3) screws to secure the single beam connector in place on the bottom side
of the system.

+ For discrete models shipped with a 128 MB vram GPU card, replace the four (M2x3) screws to secure the two
beam connector in place on the bottom side of the system.

+ For discrete models shipped with a 256 MB vram GPU card, replace the six (M2x3) screws to secure the three
beam connector in place on the bottom side of the system.

10. Connect the speaker cable and SD card reader cable to the connectors on the system board.
1. Connect the GPU power cable to the connector on the system board on the top side of the
12. Lock the GPU power cable connector on the system board.

Next steps

1.

2.
3.

Install the inner frame.
Install the heat-sink assembly.
Install the primary memory.

hebR bR l) 65



4, Install the keyboard.

5. Install the keyboard lattice.

6. Install the WLAN card.

7. Install the WWAN card.

8. |Install the secondary memory.
9. Install the SIM card.

10. Install the primary M.2 SSD.
1. Install the inner frame.

12. Install the battery.

13. Install the base cover.

14. Install the secondary M.2 SSD.
15. Install the SSD door.

16. Install the SD card.

17. Follow the procedure in after working inside your computer.

o'v) GPU

N 0'0Y) Non-GPU

o'MTPINn O'NIN

awNNN 7w 0190 1770 7Y NTIAYN 1197 'Y 1ISAN 17NN DX VX,
N 0'V1d NX 10N-SD.
N N7TNX10n-SSD.
N 210 NR Y0n-M.2 SSD awnn.
0'02N '10'D X 10N,
n7710n NX 10N,
N 212 IR Y0N-M.2 SSD 'wran.
N 0'01> NX YoN-SIM.
UNN [N2'TN DR 10N.
. N 0'V1d NXR Yon-WWAN.
N 0'071> NX Yon-WLAN.
. NT77NN WO DR 0N,
. NT7N DX 0N,
. 07w mwnn 720 N on-GPU.
. 'UKRIN |ND'TN DR 100N,
. NN qia 71700 NR on.
. 1'M'190 NNA0NN NX 10N,
. 1DYnn NI7 X 00N.

OC®NDOA NN

-~ 2 2 a2 2 a2 3 A
0O NN O

IT AaN'YnN NITIR

X2N N'PON NITANA NYO'Y NIRIMDN .NN0NN Y70 7¢ MITN AIX" 79001 NDIWNAN NI DIF'M DX ¥ RN,

@lo-m) DY D'N7W10 DFTI9) DT 1Y nvn GPU:
D1

1. DN nwiw nx on (M2x5) n 0'01d nX npTANN-GPU T 90 naywn'.
I
2. 0 0'wd X XXIN-GPU awnnnn.

n 0'01d Mpnn-GPU

D'MTRIN D'XIN

MIPNNN 770 VI 1197 0'TEN 0R2DIN DR 100,21 NOY7NN VXA NNK DX,

66 nadI 7D



IT "N'YN NITIX
N 0'0 DIPM DX |"¥N RN-GPU maigninn ™70 7w nitn i gooni.

NX2N N'PON 1IThNA |I.UU'7 Y'Y Niinn

DY

1. 00011 nx MNNY-GPU T 95 mywnawv 17w ynnn Jima.
2. DN Nty nX N1t a0an (M2x5) 0 0'u1d NX TR *12-GPU T 93 maywn?.

0'Nan DAYUN

2NN NI7 DX [N,
N'N19N NNA0NN DX [N,
AMPN YIM 9ia 71750 N [pnn.
'WNRIN [ND'TD DX |N0.
N 7w Mmwnn 725 nX [pnin-GPU.
NT7700 DX PN,
NT7PNN DY DX [P0,
N 0'071d NX |PNin-WLAN.
N 0'V1d NX [7Nn-WWAN.
. UNN N2'TH DX [N,
N 0'07D NX PNN-SIM.
. 0D DX |PNn-M.2 SSD 'wran.
. N7710N DX [pNn.
. 0'020 '10" NN [N0.
. 0D DX |Pnn-M.2 SSD awni.
. N N7T NX |pnn-SSD.
. N 0"V NX [PNN-SD.
. AUNNN 7w 0190 1770 7V nTIavn INK7 o1 01PN Y'7NN DX YA,

©ONDO A NN

-~ & 2 a2 3 A a A
0O NOOOLNODN>-O

21N

Removing the speaker

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.
. Remove the WWAN card.
Remove the WLAN card.
. Remove the keyboard lattice.
. Remove the keyboard.
. Remove the primary memory.
. Remove the heat-sink assembly.
. Remove the inner frame.
. Remove the GPU power cable.
. Remove the GPU card.
. Remove the system board.

©ONDO A NN

S 2 A 2 2 2 A A A
O O NOOOODMNWN-O

naoal pin's

67



About this task

The figure indicates the location of the speaker and provides a visual representation of the removal procedure. Images to be uploaded in
the next review cycle.

Steps

1. Peel the pieces of adhesive tape that secures the speaker cable to the palmrest.
2. Pry the speaker module from its slot on the top edge of the palmrest.
3. Remove the speaker module from the computer.

Installing the speaker

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the speaker and provides a visual representation of the installation procedure.

68 hbRhIE IR l)



Steps

1.
2. Adhere the three piece adhesive tape to secure the speaker cable in place on the palmrest.

Align and place the speaker module into its slot on the top edge of the palmrest.

Next steps

©ENDOA NN

e s s s s s o
CXIINDIRODED

Install the system board.
Install the GPU card.

Install the GPU power cable.
Install the inner frame.

Install the heat-sink assembly.
Install the primary memory.
Install the keyboard.

Install the keyboard lattice.
Install the WLAN card.

Install the WWAN card.

Install the secondary memory.
Install the SIM card.

Install the primary M.2 SSD.

. Install the battery.

Install the base cover.
Install the secondary M.2 SSD.

. Install the SSD door.

Install the SD card.
Follow the procedure in after working inside your computer.

naoal gN'e

69



'WXNNK 'O

Removing the middle cap

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.
. Remove the WWAN card.
Remove the WLAN card.
. Remove the keyboard lattice.
. Remove the keyboard.
. Remove the primary memory.
. Remove the heat-sink assembly.
. Remove the inner frame.
. Remove the GPU power cable.
. Remove the GPU card.
. Remove the system board.

OCENDOA NN

S 2 2 a2 2 2 A A A
O o NOOOODMWNDN_SO

About this task

The figure indicates the location of the speaker and provides a visual representation of the removal procedure. Images to be uploaded in
the next review cycle.

4x
M2x3

Steps

1. Remove the four (M2x3) screws that secures the middle cap in place.

70 hbRhIE IR l)



2. Remove the middle cap from the computer.

Installing the middle cap

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the middle cap and provides a visual representation of the installation procedure.

Steps

1. Align and insert the middle cap onto the palmrest.

®| NOTE: Ensure that the middle cap is secured in place by the two pegs on the palmrest.

2. Replace the four (M2x3) screws to secure the middle cap in place.

Next steps

1. Install the system board.

2. Install the GPU card.

3. Install the GPU power cable.
4. Install the inner frame.

5. Install the heat-sink assembly.
6. Install the primary memory.

7. Install the keyboard.

8. |Install the keyboard lattice.

9. Install the WLAN card.

10. Install the WWAN card.

1. Install the secondary memory.
12. Install the SIM card.

13. Install the primary M.2 SSD.
14. Install the battery.

naoal gN'e

7



15. Install the base cover.

16. Install the secondary M.2 SSD.

17. Install the SSD door.

18. Install the SD card.

19. Follow the procedure in after working inside your computer.

axn 721'on

Removing the display assembly

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.
. Remove the WWAN card.
Remove the WLAN card.
. Remove the keyboard lattice.
. Remove the keyboard.
. Remove the primary memory.
. Remove the heat-sink assembly.

OCPENDOA NN

N G Y
oo NN - O

About this task

The figure indicates the location of the display assembly and provides a visual representation of the removal procedure.

72 nadINI 7o



NI PN 73



N,

]

1

Steps

1. Open the display assembly to a 140-degree angle and place the computer at the edge of a flat table so that the display assembly can
extend below the table.

Disconnect the power button board cable from the power button board.

Remove the (M2x5) screw that secures the display bracket to the palmrest.

Disconnect the display cable from the connector on the system board.

Remove the (M2x5) screw that secures the Darwin bracket.

Peel and remove the WWAN cables and Darwin cables from the palmrest.

Remove the eight (M2.5x2.5) screws that secures the hinges to the palmrest.

Remove the display assembly from the palmrest.

NS NN

@ NOTE: The touch display assembly for Precision 7550 is a Hinge-Up Design (HUD) assembly and cannot be further
disassembled once it is removed from the bottom chassis. If any components in the touch display assembly are
malfunctioning and need to be replaced, replace the entire touch display assembly.

Installing the display assembly

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the location of the display assembly and provides a visual representation of the installation procedure.

74 hbRhIE IR l)



naoal gN'e

75



1x 1x
M2x5 M2x3

Steps
1 @

NOTE: Before installing the display assembly, ensure that the display hinges are opened to a 140-degree angle
against the display assembly, to fit the display assembly to the palmrest.

Align the screw holes on the hinges on the display assembly to the screw holes on the palmrest.
Replace the eight (M2.5x2.5) screws to secure the hinges to the palmrest.

Replace the (M2x5) screw to secure the display bracket to the palmrest.

Connect the display cable to the connector on the system board.

Replace the (M2x5) screw to secure the Darwin bracket.

Adhere the WWAN cables and Darwin cables to the palmrest.

Connect the power button board cable to the power button board.

N g b NN

Next steps

Install the heat-sink assembly.
Install the primary memory.
Install the keyboard.
Install the keyboard lattice.
Install the WLAN card.
Install the WWAN card.
Install the secondary memory.
Install the SIM card.
Install the primary M.2 SSD.

. Install the battery.

. Install the base cover.

©ONDO A NN

_
= 0O

76 nadINI 7o



12. Install the secondary M.2 SSD.

13. Install the SSD door.

14, Install the SD card.

15. Follow the procedure in after working inside your computer.

T'A 9O Nywn

Removing the palmrest

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.
. Remove the WWAN card.
Remove the WLAN card.
. Remove the keyboard lattice.
. Remove the keyboard.
. Remove the primary memory.
. Remove the power adapter port.
. Remove the power button board.
. Remove the smart card reader.
. Remove the touchpad buttons.
. Remove the SD card reader.
. Remove the power button. or power button assembly with fingerprint reader
. Remove the heat-sink assembly.
. Remove the inner frame.
. Remove the GPU power cable.
. Remove the GPU card.
. Remove the system board.
. Remove the speaker.
. Remove the middle cap.
. Remove the display assembly.

©CPENDO N NN

BUISNYNREINNNENScsIZoaRas=208

About this task

The picture below shows the palmrest after performing the pre-removal parts procedures for any palm rest replacement

naoal pin's

77



Installing the palmrest

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task
The figure indicates the palmrest and before performing the pre-installation parts procedures for any palmrest installation procedure.

Next steps
1. Install the display assembly.

78 hbRhIE IR l)



Install the middle cap.
Install the speaker.
Install the system board.
Install the GPU card.
Install the GPU power cable.
Install the inner frame.
Install the heat-sink assembly.
Install the power button or power button assembly with fingerprint reader.
. Install the SD card reader.
Install the smart card reader.
. Install the touchpad buttons.
. Install the power button board.
. Install the power adapter port.
. Install the primary memory.
. Install the keyboard.
. Install the keyboard lattice.
. Install the WLAN card.
. Install the WWAN card.
. Install the secondary memory.
. Install the SIM card.
. Install the primary M.2 SSD.
. Install the battery.
. Install the base cover.
. Install the secondary M.2 SSD.
. Install the SSD door.
. Install the SD card.
. Follow the procedure in after working inside your computer.

© 0N o bhoN

BUSNYNRRINRNSScxsIsoRaS =23

AXN Naon

Removing the display bezel (non-touch)

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.

. Remove the WWAN card.
Remove the WLAN card.

. Remove the keyboard lattice.

. Remove the keyboard.

. Remove the primary memory.

. Remove the heat-sink assembly.

. Remove the inner frame.

. Remove the GPU power cable.

. Remove the GPU card.

. Remove the system board.

. Remove the speaker.

. Remove the middle cap.

©PENDOTA NN

MO ND =2 =3 =3 =3 3 -3 3 3 3
NSBooIdporoaudb=20

nadINI 7D 79



22. Remove the display assembly.

About this task

The figure indicates the location of the display bezel and provides a visual representation of the removal procedure. Images to be uploaded
in the next review cycle.

Steps

1. Using a flat head tool or a plastic scribe, pry open the display bezel from the two recess points on the bottom edge of the display
bezel.

2. Working your way from the bottom edge, pry around the sides and top edge of the display bezel.

®

NOTE: While prying the display bezel, make sure to pry along the outside edge of the display bezel using your hands-
using a screw driver or other sharp objects may damage the display cover.

3. Remove the display bezel from the display assembly.

Installing the display bezel (non-touch)

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the display bezel and provides a visual representation of the installation procedure.

80 NI PN



Steps

1. Place the display bezel on the display assembly.
2. Press the edges of the display bezel until it clicks onto the display assembly.

Next steps

Install the display assembly.
Install the middle cap.
Install the speaker.
Install the system board.
Install the GPU card.
Install the GPU power cable.
Install the inner frame.
Install the heat-sink assembly.
Install the primary memory.
. Install the keyboard.
Install the keyboard lattice.
. Install the WLAN card.
. Install the WWAN card.
. Install the secondary memory.
. Install the SIM card.
. Install the primary M.2 SSD.
. Install the battery.
. Install the base cover.
. Install the secondary M.2 SSD.
. Install the SSD door.

©ENDO A NN

MO =2 = % —x o3 —a s 3 3
SooNooxdo=0

NI PN 81



21. Install the SD card.
22. Follow the procedure in after working inside your computer.

ax¥N NIy

Removing the display panel (non-touch)

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.

. Remove the WWAN card.
Remove the WLAN card.

. Remove the keyboard lattice.

. Remove the keyboard.

. Remove the primary memory.

. Remove the heat-sink assembly.

. Remove the inner frame.

. Remove the GPU power cable.

. Remove the GPU card.

. Remove the system board.

. Remove the display assembly.

. Remove the speaker.

. Remove the middle cap.

. Remove the display assembly.

. Remove the display bezel.

OC®NDOA NN

RN ocxIoRap=0

About this task

The figure indicates the location of the display panel and provides a visual representation of the removal procedure. Images to be uploaded
in the next review cycle.

82 nadI 7D



?

2x 2x
M2.5x2.5 M2x2.5

Steps

1.
2.
3.
4.
5.
6.
7.
8.

Remove the two (M2.5x2.5) screws and the two (M2x2.5) screws that secures the display panel to the display assembly.
Lift the display panel and turn the display panel over to access the display cable

Peel the conductive tape covering the display cable.

Peel the adhesive tapes that secures the display cable.

Peel the adhesive rubber strip covering the display cable.

Unlock the display cable connector and then disconnect the display cable from the back of the display panel.

Remove the display panel form the display assembly.

Remove the display panel.

NOTE: The support brackets attached to the display panel are defined as a single service assembly part and cannot
be further disassembled.

nadYAIl p'e 83



Installing the display panel (non-touch)

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the display panel and provides a visual representation of the installation procedure.

?

2x 2x
M2.5x2.5 M2x2.5

Steps

1.
2,
3.
4.

84 NadIAI1 p'e

Connect the display cable to the connector on the back of the display panel and lock the display cable connector.
Adhere the adhesive rubber strip to cover the display cable.

Adhere the transparent tape and conductive tape above the rubber strip to cover the display cable.

Align the display panel with the tabs on the display assembly.



B. Replace the two (M2.5X2.5) and two (M2x2.5) screws to secure the display panel to the display assembly.

Next steps

Install the display bezel.
Install the display assembly.
Install the middle cap.
Install the speaker.
Install the display assembly.
Install the system board.
Install the GPU card.
Install the GPU power cable.
Install the inner frame.

. Install the heat-sink assembly.
Install the primary memory.

. Install the keyboard.

. Install the keyboard lattice.

. Install the WLAN card.

. Install the WWAN card.

. Install the secondary memory.

. Install the SIM card.

. Install the primary M.2 SSD.

. Install the battery.

. Install the base cover.

. Install the secondary M.2 SSD.

. Install the SSD door.

. Install the SD card.

. Follow the procedure in after working inside your computer.

©ENDOA NN

RENNNNocxIdorRapP=0

AXN "'y

Removing the display hinge

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.

. Remove the WWAN card.
Remove the WLAN card.

. Remove the keyboard lattice.

. Remove the keyboard.

. Remove the primary memory.

. Remove the heat-sink assembly.

. Remove the inner frame.

. Remove the GPU power cable.

. Remove the GPU card.

. Remove the system board.

. Remove the display assembly.

. Remove the speaker.

©CPENDO N NN

PO N =2 =3 —3 =3 -3 03 -3 3 3 =
NSBoxoNooo2oow=0

naoal pin's

85



22. Remove the display bezel.
23. Remove the display panel.

About this task

The figure indicates the location of the display hinge and provides a visual representation of the removal procedure. Images to be uploaded
in the next review cycle.

\

8x
M2.5x2.5

Steps

1. Remove the eight (M2.5x2.5) screws that secures the display hinges to the display assembly.
2. Remove the display hinges.

Installing the display hinge (non-touch)

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the display hinge and provides a visual representation of the installation procedure.

86 hbRhIE IR l)



\

8x
M2.5x2.5

Steps

1.

Place the display hinge in its slot on the display assembly.
2. Replace the eight (M2.5x2.5) screws to secure the display hinge to the display assembly.

Next steps

©OENDOA NN

BN oosIdoRad=20

Install the display panel.

Install the display bezel.

Install the speaker.

Install the display assembly.
Install the system board.
Install the GPU card.

Install the GPU power cable.
Install the inner frame.

Install the heat-sink assembly.

. Install the primary memory.

Install the keyboard.

. Install the keyboard lattice.

. Install the WLAN card.

. Install the WWAN card.

. Install the secondary memory.
. Install the SIM card.

. Install the primary M.2 SSD.

. Install the battery.

. Install the base cover.

. Install the secondary M.2 SSD.
. Install the SSD door.

. Install the SD card.

. Follow the procedure in after working inside your computer.

naoal gN'e

87



an'7xyn

Removing the camera (non-touch)

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.
. Remove the WWAN card.
Remove the WLAN card.
. Remove the keyboard lattice.
. Remove the keyboard.
. Remove the primary memory.
. Remove the heat-sink assembly.
. Remove the inner frame.
. Remove the GPU power cable.
. Remove the GPU card.
Remove the system board.
. Remove the display assembly.
. Remove the speaker.
22. Remove the display bezel.
23. Remove the display panel.

OCOENDOA NN

PR = = — = s s s o
NRBNooxox~Nooodhopo=0

About this task

The figure indicates the location of the camera and provides a visual representation of the removal procedure. Images to be uploaded in
the next review cycle.

88 NI PN



Steps

Peel the adhesive tape that covers the camera module.
Disconnect the display cable from the camera module.

Do =

Gently pry the camera module from the display back cover.

Installing the camera

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the camera and provides a visual representation of the installation procedure.

Steps

Place the camera module in its slot on the display back cover.

Place the camera shutter cap on the top edge of the camera shutter.
Connect the display cable to the camera module.

Adhere the adhesive tape to cover the camera module.

Do =

Next steps

Install the display panel.
Install the display bezel.
Install the speaker.
Install the display assembly.
Install the system board.
Install the GPU card.
Install the GPU power cable.
Install the inner frame.
Install the heat-sink assembly.
. Install the primary memory.
1. Install the keyboard.
12. Install the keyboard lattice.

©ENDO DN

—
o

Gently pry the camera shutter cap from the top edge of the camera shutter and remove it from the display back cover.

naoal pin's

89



13. Install the WLAN card.

14. Install the WWAN card.

15. Install the secondary memory.
16. Install the SIM card.

17. Install the primary M.2 SSD.
18. Install the battery.

19. Install the base cover.

20. Install the secondary M.2 SSD.
21. Install the SSD door.

22. Install the SD card.

23. Follow the procedure in after working inside your computer.

N2y [W'n NI

NN [W'N Ni7 nnon

D'MTRIN D'XIN

awNNN 7w 0190 1770 7Y NTIavn 1197 9'woa 011NN 17NN DX YN,
N 0'071> NX YoNn-SD.
N N77T NXR0N-SSD.
N 212 R Y0N-M.2 SSD awni.
0'020 '10'D NN 10N,
n7710n NX 00N,
N 21D R Y0n-M.2 SSD 'wran.
N 0'01> NX YoN-SIM.
UNN [N2'TN DX 10N.
. N 0'01d NXR Yon-WWAN.
N 0'01> NX on-WLAN.
. NT7PNN NW DX 100N.
. D770 DX 0N,
. 'WURIN |1N2'TN DR 100N.
. NN i 71750 nRon.
. 1'N"19N NN20NN NX 10N,
. N 7w wnin 720 Nk on-GPU.
. N 0'01d NRo0N-GPU.
. 12NN NI7 X o,
. A¥N 71700 N Yon.
. 7Ipnan R on.
. A¥N N120N NX 10N,
. A¥N NI7 X 0N,

©PENDOTA NN

BRI orRad=0

IT AaN'YnN NITIR
N2n N'Y7ON IThND NYL"Y NRIMN .N1onn ']'5-'1 29 mitn e 790nI NN |Y'n ni? DI7' DX |"'XN RN,

NX2N NM'OoN NITNNA 17910 NIINNN

DYy

A¥N 7W MINKN 1102 17U YINNN NN [WHN N7 IR DINTA NNY.
NN YN NI7 DX 190,

NN (WD NIA ax¥N 720 X M.

M2PN [YUN N7 DR 100N,

Do =

90 hbRhIE IR l)



NN YN NI Mpnn

D'NTEIN D'AAN

MIPNNN )70 VIXA 1197 DMYEN D'2DIN DX 10N Q1 N97NN YX¥aN NNK DX.

IT AN'WN NITIN
NIPNNN ™70 7Y NITN 2IXT 79001 N2IPA [WUR NIZ DI' DX [0 N,

NX2N N'POoN 1IThnNAa |I_UU'7 Y'Y Niinn

D1y

1. NN jwrn N7 a¥n 720 nx 1an.
2. 2¥N 7Y MINKN 10N 7Y 17W YN NIFTYA INIR NINENQPD (W'D N7 IR 190

D'Nan DAYYUN

AN NI7 DX [N,
XN NNA0N DX [N,
217070 DX |pna.
AXN 71700 DX [P0,
2NN NI7 DX [N,
19720 TAYNn 0'V1d DX [N (GPU).
N 7w Mmwnn 725 nX [pnn-GPU.
N'N19N NNA0NN DX [N,
AMPN YIM 9ia 71750 DX [pnn.
. 'WRIN |ND'TN DR [P0,
NT7700 DX [N,
. NT7NN DY DX [N,
. N 0'0D NX [PNn-WLAN.
. N 0'V NX [FNn-WWAN.
. UNN N'TN DR PN,
. 1.0'01D DX PNN-SIM.
. DD DR [PNN-M.2 SSD rwrn.
. N77100 DX NN,
. 0'020N "0 NN [P0,
.0 DR [pnn-M.2 SSD awnn.
. N N7T DR [PNn-SSD.
.1 0'07D NN |NN-SD.
.AUNNN 7w 009N P70 72V NTIAYN INKYT §'Y02 VISR 7NN DX VXA,

©OENDOA NN

BN oosIdoRad=0

ayY 720

Removing the display cable

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.

Remove the SSD door.

Remove the secondary M.2 SSD.

Remove the base cover.

Remove the battery.

Remove the primary M.2 SSD.

Remove the SIM card.

PN O NN

naoal pin's

91



9. Remove the secondary memory.
10. Remove the WWAN card.

1. Remove the WLAN card.

12. Remove the keyboard lattice.
13. Remove the keyboard.

14. Remove the primary memory.
15. Remove the heat-sink assembly.
16. Remove the inner frame.

17. Remove the GPU power cable.
18. Remove the GPU card.

19. Remove the system board.

20. Remove the display assembly.
21. Remove the speaker.

22. Remove the display bezel.

23. Remove the display panel.

24. Remove the P-sensor board.

About this task

The figure indicates the location of the display cable and provides a visual representation of the removal procedure. Images to be uploaded
in the next review cycle.

Steps

1. Peel the adhesive tape covering the camera module.
2. Disconnect the display cable from the camera module.
3. Peel the display cable from the display cover and unroute the cable from the routing channels

92 NNl 7o



4. Remove the display cable from the display back cover.

Installing the display cable

Prerequisites

If you are replacing a component, remove the existing component before performing the installation procedure.

About this task

The figure indicates the display cable and provides a visual representation of the installation procedure.

Steps

1. Route and adhere the display cable on the display back cover.
2. Connect the display cable to the connector on the camera module.
3. Adhere the adhesive tape to cover the camera module.

Next steps

Install the P-sensor board.
Install the display panel.
Install the display bezel.
Install the speaker.

Install the display assembly.
Install the system board.
Install the GPU card.

No oA oN 2

NI PN 93



8. Install the GPU power cable.
9. Install the inner frame.

10. Install the heat-sink assembly.
1. Install the primary memory.

12. Install the keyboard.

13. Install the keyboard lattice.

14, Install the WLAN card.

15. Install the WWAN card.

16. Install the secondary memory.
17. Install the SIM card.

18. Install the primary M.2 SSD.
19. Install the battery.

20. Install the base cover.

21. Install the secondary M.2 SSD.
22. Install the SSD door.

23. Install the SD card.

24, Follow the procedure in after working inside your computer.

Display back cover

Replacing the display cable

Prerequisites

Follow the procedure in before working inside your computer.
Remove the SD card.
Remove the SSD door.
Remove the secondary M.2 SSD.
Remove the base cover.
Remove the battery.
Remove the primary M.2 SSD.
Remove the SIM card.
Remove the secondary memory.

. Remove the WWAN card.
Remove the WLAN card.

. Remove the keyboard lattice.

. Remove the keyboard.

. Remove the primary memory.

. Remove the heat-sink assembly.

. Remove the inner frame.

. Remove the GPU power cable.

. Remove the GPU card.

. Remove the system board.

. Remove the display assembly.

. Remove the speaker.

. Remove the display bezel.

. Remove the display panel.

. Remove the P-sensor board.

. Remove the display hinges.

. Remove the camera .

. Remove the display cable.

OCPENDOA NN

NNBRENRNBocxIaRadD=E0o

About this task

The picture below shows the display back cover after performing the pre-removal parts procedures for any display back cover
replacement

94 nadI 7D



For installing the components, place the display back cover on a flat surface.

©C®NDOA NN

UNBROENRNENBoxmIaoRao =0

Install the display cable.
Install the camera.

Install the display hinges.
Install the P-sensor board.
Install the display panel.
Install the display bezel.
Install the speaker.

Install the display assembly.
Install the system board.

. Install the GPU card.

Install the GPU power cable.

. Install the inner frame.

. Install the heat-sink assembly.
. Install the primary memory.

. Install the keyboard.

. Install the keyboard lattice.

. Install the WLAN card.

. Install the WWAN card.

. Install the secondary memory.
. Install the SIM card.

. Install the primary M.2 SSD.

. Install the battery.

. Install the base cover.

. Install the secondary M.2 SSD.
. Install the SSD door.

. Install the SD card.

. Follow the procedure in after working inside your computer.

naoal pin's

95



NI'Ya [NNO

7v 21InNX 197 Noyn wixa n'1a v 1Inax Dell
SupportAssist

IT AN'YnN NITIXR

[IN2AxN N2IN SupportAssist (ZINNX 1197 NDIWN WINA NPT ¢ [INAND NRDIN 2NN 7Y N9'pn N7 T ny¥an ('MdIyn [INaX'D DA AvITn
2w Dell SupportAssis 2 n12m-BIOS n1ENA NIXIAR V1AV NIFMYON 1IN NP90N NNAIMN N2IYAN [INAN N1IDIN .M 170nd 1T 2y nyoini
37 "WONNN D'N'ION DIPNA IX:

2'UPRIVI'R 2XN IX N'VNIVIR NIP'TA 7'VoNnY

NI 72w TNY

NI T2 NIXXIN WNYY? IX %07

17WU5YW DIPNNN NITIR §011 YT 1790'YW NISON NP* T2 NI'NWOX 17W7 1D NI9'Pn NIjTA 7'vony
NN7¥N2 M7WIN NPT DX DINNTAY 2¥A NIYTIN A'¥NY?

NP'TAN 170N INITY NI'Y2A 72V DINNTY ARAY NIYTIN A9

@ [INAXA NIP'TA AWKD AWNNA 910N NP X¥N'AYT TOZN .UNNWYNA TYN AXZRIVI'X NIAMAN DMION DN 7Y NIPTa 190N N
niyxann.

27U NNAY TIZ) [170A1 N1AIN [IN2X DY NNAIN DY [INN9 AR L0 VTN N7aR7 SupportAssist ePSA, ePSA Ix PSA) .

7w 2INNX 197 Nd>wn WwixA N'TA N7Y9n SupportAssist

oYy

1. awnnn nx 7won.

2. wpn v wipn aunnn 7INNK 17002 F12 7w ton y'amwd Dell.
3. NINWONA N1 7INNKN V9N 7w Jona Diagnostics (JINaX).
4

NINNNN N'78AWN N1'92 YN 7V yn'Y.
ANIN [IN2XN N'DIN 7 'WRIN 9T,

5. 9T nn'wa? 2yt 11 Damnnn nanta n'oa ynn 7y yn'y.
NN'YI1 0WY'oIN INITY D'0'MI9N.

6. 7v yn7 ,'9'¥90 [7Nn2 [IN2X NP'T2 7'won’ "1 Esc 7y yn'z1 Yes (jINaxn Nz'T2 DX Ixy'7 71 ().
2V yn71 n'7xnwn N117N2 |[pnnn DX N2 Run Tests (nip*1a 2v9o0).
8. DnxIn AXAWN IR NIYYA NN DX.

X D191 NIN'RN 190N NIXI ARWN T IR 1197 D1wn Dell.

~

nd>yna Ni7 ¥ nnam nmyxy np'1a (M-BIST)

IT AaN'Yn NITIR

96 ni'ya jnno


https://www.dell.com/support/article/sln115162/
https://www.dell.com/support/article/sln115162/
https://www.dell.com/support/article/sln115162/
https://www.dell.com/support/article/sln115162/

o1y

1. wpn 7w NdNK NX'N7 YN'7 M DX 7'won? 13 n'zuann xn? w1 M-BIST.
2. Mdynn NI7a 27PN W IWRD DINDA NN'RN 077100 a¥n NN,
3. N'wan DX [7N7 T2 NdWNN Ni7 DX 9700,

®| 'IXID W19 NDWNA NI DX NR7IT 2R 277100 2¥N DM AN,

a¥n NI77 "nunn npoox N7'on ¥ nnaIM nMmyxy np'Ta
(L-BIST)

o-
_*/

(8)

O

D'NaN DAYvUN

L-BIST (7 7nwnn npoox n7'on Np*12-LCD) 77nn2 'univiIx [9IXA 2y91mi ATN'D N7Y9NN NN 7W ARAYN TIR [INAR7 119'w niinn POST.
L-BIST n oxn T2 1 7w ninaxkn-LCD nd>wnn nitm ‘mwn 7apn. L-BIST 7 twn 7oon nd>ayvnn ni7 okn npTa-LCD v npr1a vixa 1 v
7 wnin nzoox n7'on-LCD. n ox-LCD 8 ,2] "w naxnaw Tipa nanann 077100 axn N1 mwn 7am X7].

ni'ya jNnNo 97



axn n17 ¥ nnam nmyy np'1a (LCD-BIST)

IT AN'Yn NITIXR

I
B8

oYy

1. wpn 7v DK NX'N7 YN'7 D n'2090n [¥N7 7V YN'7 DN INXTL.
2. wpn IR MNY D 7'NNn 2wnnn TWXRD n'2uenn [xn7 nxi POST.
3. DIV 0'WIX 2N IR TR YAX A%N? 7'Nnn axn niv.

@ IX DY X77 Dd70D D'AXINM D'YAXAY XTI 11X 71 YNNWUNM .D2IYA XD NIY? '790% DXNNA NNNYAYT WY D'YAXD ¥ N
NI'SI2 NIANN.

4. [NNXRN T'NXRN YaXn 9i0a ZINNX y¥xan awnna.

noayna j[InaX niNn

n7710 a¥xn NN

n'7710N0 N1'YL 2¥N DRI N7U9NN 2¥N NN NN,

D'TINX 5-n NNIAa n77100 7¥ N1'YON NNNIYAINA NNNN DRNA - YA A%
D'TINXK 5-n NINS n'7710n 7w N2'wVN NNIIENY7100 NIYXNNA 719 Awnnn - DInD.
Al )

NRI7NA N1V N771001 121NN NdN 790.
5%-n nniaa n7710n 7w N1'WON NNOIENY710 NIVYNAN V19 awnnn.
125 KINY IX NATIN 2¥N ,N1'YW A¥N] K¥N1 AWNnNn.

D'7wd DUYNN QIXOX 'TI7 NYMYNI DIN>2 NaNdnn n'7710n 2¥ni n7y9nn N,

TV Y'wnn 0T 2,3 019T .ANNWNI 0'NMYS WITY 271 N2NANA DA NK71,NNNYNA 0" Y9 DIND2 NANANN 077100 2¥N1 N72Y90N 1ML NNam
IN [ND'T DT K7W |"¥nl awnnin 127 RAM.

NIR'IYNA NI'YAN DY TN',N77100 2¥n NNIIE7AWNN NIMAN DX NA'YN XN n7200.

niMn T .7 a7av

[INAXA NIMN T n'yan IR Y'"JIYJ |NNS

1.1 N 7wd TPM 2NN NI7 DX 970N

98 ni'ya jnno



(Qwnd)nern Hmp .7 a7ao

[INAXA NN IR

n'yan IN'nm

Y'mm jnno

1.2 1N 7w SPIy'on 'ma N2YNN N7 DX 9700

1,5 EC niadnY 71> X7 i-Fuse >N NI7 NX 970N

1,6 TIP NNT NIRAY 1Ay N7 I EC avna | (wavn n7710 ,0'%7710 ,'917'n DOT) 7awnn nNipn 75 DX pm

ungraceful N7Y90N |¥N7 72U NDNK NX'N7 FT-5V '0VoN YN DX 7IN9I

21 70 CPU 7w Inaxn "7 N 7won Intel CPU. 97nn ,ndwna n'wan bx
n>wnn NI7 NX

2,2 N'77n nodn ox Ni7 BIOSnxaw Ik ROM N nX PTY-BIOS ndwni n'wan ox AN ndTvN noMaY
N2WNN N7 X 97nn

2,3 N7 NIt X72/RAM TIX 9700 ,NOWYN1 N'YaN DX .N270D [NM [N2'TA TN XTI
N2 TN

24 N7 7w3/RAM 71TIn IR 97NN ,NdWN1 N'WaN OX .|N2'TA 717N IR 7NNX
N>

2,5 I'?P7 K7 [NO'T [PNIn 71TIn IR 97NN ,NdWN1 N'Wan DX .JN2'TH 717N DX 7NNR
N>

2.6 D22WN NDWA/DKRN N7 IRAY N nX PTY-BIOS ndwni n'wan ox AN ndTvN NnoMaY
N2WNN N7 X 9700

2.7 2¢5 LCD - nyTin SBIOS N DX PTY-BIOS ,ndwni n'yan oX AN N1dTYN N0NAY
2mm nx 97nn LCD

2,8 2¢5 LCD - nn't EC npoox n'7'ona 1wd v mipn? >N NI7 X TN

7nwnn

3.1 n77102 7wy CMOS N N7710 22'n nR 7nnx-CMOS. nX 970 ,Ndwnl n'wan DX
N Nn7710-RTS

3,2 1 7w>-PCl aaw/q0n 0'0101 IX Min'? N>wnn NI7 X TNN

3.3 N 7v NTNY maimn nxxynm x7-BIOS N DX PTY-BIOS ,mowna n'yan oX AN NdTVN N0NAY
Nd>WNN NI7 DX 97nn

3,4 N'ZIN K7 X'N X ,NRYNI ITNY NINN N DX PTY-BIOS ,nowni n'yan oX ANk NRdTYN N01AY
NdwWwnn NI7 DX 9700

3,5 EC nwnin nj7o0X 9¥11 7wo1 7pm nipn'? N>wnn NI7 X TN

3.6 1 Dao-Flash -7y "nix SBIOS Min'? Nd>wnn Ni7 X TNN

3,7 7¢ nawnt mnnnY aixpn ptn om ME mipn? N>wnNN NI7 IR TN

nyTIn? HECI

YiNn'yl NX¥YN1 NN7¥NN OX N1''¥N :An'7¥n axn nnn.

win'wa nnxnin - yiap 7.
YIn'wa NAI'N nnxnn - 1.

ax¥n nn Caps Lock: wjrn nx n1¥xn Caps Lock nawim Ix 7v19.

vy |27 - Caps Lock 7vom.

'11) - Caps Lock nawm.

N 7w wTNn n72voni1 1an-WiFi

IT AaNn'Yn NITIR

NINIY'{ N"Y2 2Py V1IVIKR? NW2A awNnY? '’ DR WiFi 0 7w wTnn nweni 12 Yw 70 yxia-WiFi. yixa [9ix 1227 nirnan 7oon Xxan '7nn

N 7w wTNn nvoni nan-Wiki:

ni'ya [INnNo 99



®| VIVIX 'NN'WY '(Poo DAY Nwa (ISP) a'1lwn any/pTin |pnn D'7ooNV.

DYy

2WNNN NN N2D.

DTINN DX N2D.

'0IN7XN 2NN DX N2D.
nimv 30 |nnn.

'0IN7RN 2NIN DX 790N,
DTN DX 7W9n.
awnnn N 2uon.

NO oD oINS

100 ni'ya jnno



NTY N7y

D'RYI):

78 nmo Dell

X n"O Dell

D'NTEIN D'NAN

MXIN AI7072 IX [IAYNL ,ATIRD NTIVNL 7Y Mg NNIYN] NNYENNN '0I9 IR XIXNY 721N ,7'y9 01I02'K 112N 17 'R DX 2D
Dell.

IT AaN'Yn NITIR

n1an Dell 't X7 o'nn'wnn 770 D PN, DMWY DTN DRNN NINYNA NIATA .V1VI'RN T IR (19702 ,02'ANT7 NIFNMYOX 190N Ny'¥n
DY YR X7 T2 TR DAt Dell ninige'? nn'w IR 1100 ND'AN L,NNDNA IRYNAL

DYy

7% 111y Dell.com/support.

2NN N'MIAVE TN,

TINN9IN NN'YIQ 7Y TN IX YIRN 1227 0'019 112 Choose A Country/Region (90 7w Innnn 77n2 (ITR/yIX N2,
X 19 7V D'RNNN NI'ANN I NN'WN NIY{ K N2,

Ao

nTY N7y 101



	Precision 7550 Service Manual 
	עבודה על המחשב
	הוראות בטיחות
	לפני העבודה על חלקיו הפנימיים של המחשב
	הנחיות בטיחות
	הגנה מפני פריקה אלקטרוסטטית — ESD
	ערכת ESD לשירות בשטח
	לאחר העבודה על חלקיו הפנימיים של המחשב


	טכנולוגיה ורכיבים
	תכונות USB
	USB Type-C
	יציאת HDMI 2.0
	NVIDIA Quadro T1000
	NVIDIA Quadro T2000
	NVIDIA Quadro RTX3000
	NVIDIA Quadro RTX4000
	NVIDIA Quadro RTX5000

	פירוק והרכבה
	כרטיס ה-SD
	הסרת כרטיס ה-SD
	התקנת כרטיס ה-SD

	דלת ה-SSD
	Removing SSD door
	Installing SSD door

	כונן solid state משני מסוג M.2
	Removing the secondary M.2 Solid-state drive
	Installing the secondary M.2 SSD module

	כיסוי הבסיס
	Removing the base cover
	Installing the base cover

	סוללה
	אמצעי זהירות עבור סוללת ליתיום-יון
	Removing the battery
	Installing the battery

	כונן Solid State
	Removing the primary M.2 Solid-state drive
	Installing the primary M.2 SSD module

	מודול זיכרון משני
	Removing the secondary memory module
	Installing the secondary memory module

	כרטיס SIM
	Removing the SIM card
	Installing the SIM card

	כרטיס ה-WLAN
	Removing the WLAN card
	Installing the WLAN card

	כרטיס ה-WWAN
	Removing the WWAN card
	Installing the WWAN card

	רשת מקלדת
	Removing the keyboard lattice
	Installing the keyboard lattice

	מקלדת
	Removing the keyboard
	Installing the keyboard

	מודול זיכרון ראשי
	Removing the primary memory module
	Installing the primary memory module

	גוף הקירור
	Removing the heat-sink assembly
	Installing the heat sink assembly

	יציאת מתאם חשמל
	Removing the power-adapter port
	Installing the power-adapter port

	לוח לחצן ההפעלה
	Removing the power button board
	Installing the power button board

	לוח לחצן ההפעלה עם קורא טביעות אצבעות
	Removing the power button assembly with fingerprint reader
	Installing the power button assembly with fingerprint reader

	מסגרת פנימית
	Removing the inner frame
	Installing the inner frame

	כלוב הכרטיס החכם
	Removing the smart-card reader
	Installing the smart-card reader

	לחצן משטח מגע
	Removing the Touchpad buttons
	Installing the Touchpad buttons

	קורא כרטיס SD
	Removing SD card reader
	Installing SD card reader

	לחצן הפעלה
	Removing the power button
	Installing the power button

	מכלול לחצן הפעלה עם קורא טביעות אצבעות
	Removing the power button assembly with fingerprint reader
	Installing the power button assembly with fingerprint reader

	כבל חשמל GPU
	Removing the GPU power cable
	Installing the GPU power cable

	לוח המערכת
	Removing the system board
	Installing the system board

	כרטיס GPU
	הסרת כרטיס ה-GPU
	התקנת כרטיס ה-GPU

	רמקול
	Removing the speaker
	Installing the speaker

	כיסוי אמצעי
	Removing the middle cap
	Installing the middle cap

	מכלול הצג
	Removing the display assembly
	Installing the display assembly

	משענת כף היד
	Removing the palmrest
	Installing the palmrest

	מסגרת הצג
	Removing the display bezel (non-touch)
	Installing the display bezel (non-touch)

	לוח הצג
	Removing the display panel (non-touch)
	Installing the display panel (non-touch)

	צירי הצג
	Removing the display hinge
	Installing the display hinge (non-touch)

	מצלמה
	Removing the camera (non-touch)
	Installing the camera

	לוח חיישן קרבה
	הסרת לוח חיישן הקרבה
	התקנת לוח חיישן הקרבה

	כבל צג
	Removing the display cable
	Installing the display cable

	Display back cover
	Replacing the display cable


	פתרון בעיות
	אבחון של בדיקת ביצועי מערכת לפני אתחול של Dell SupportAssist
	הפעלת בדיקת ביצועי מערכת לפני אתחול של SupportAssist

	בדיקה עצמית מובנית של לוח המערכת (M-BIST)
	בדיקה עצמית מובנית של מסילת אספקת החשמל ללוח הצג (L-BIST)
	בדיקה עצמית מובנית של לוח הצג (LCD-BIST)
	נוריות אבחון המערכת
	כיבוי והפעלה מחדש של ה-WiFi

	קבלת עזרה
	פנייה אל Dell


